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HERTE SAlhaT TR
RISAET G4 ORI, 33 STHErt 2022 ()

AHNT 31T UOR —

JeIe SART AT 1A SATUTR Fe S 9 < 4 = S 2.

foreTeT SrcTepTeaT TR RITafIErea &5 FaH fRaRyaTe o 3116, HiRieared Sroe o iy
RIS BIUIRT QT SUANT T GRITAGe SfApIRD o TRIDs Fhol. FHRHT RTwel e
fSThe T R HLNUAITS! =TT AraeTe! Ued ST JoaId bol. TR SGeHE Sfege FB1D
I AT, Yo, TATARUIRIRE T feneTRaicies HepearaT RIcRd -1 YRIRIRATS! AT iR o] TagRICrare]
Ugd fohc it atftres ATfecht fiesaar I g AYHIT RIS,

TIRITE e Y€ R 3 U 5. o1 UoeKie JRITEeld, ISoa- Hod Jdl
ST TeTeR fosfell @ 9 Sfe 2. Wy TagRI@rea GBI § b 318 ; PRU R idel Feurel Bhaes
g Teg, TR WA ST SKIEMI® Uidh geTal HRIGRUE AEh Jed [Geaa-1a Rreare
3MUR TIE RO g RIAd Peied 811, T Tb Al ITeR0T 7T HIgSIGRT SRE-HAT JTgas. e Tepmnd
T AT o1 IRt STl SAfOT Qract el ARl i SL. TR HIRATER SATHHU e el & qal—
SeH-foraT faeat a1 3T ST 21T, AT QKIS TEUTS a1 Falciles GRTaT, hacs TeR il IRy SareT;
3TRIT SATEHHUT ST Hifiieh YRIATT TTel. SBC TaTaRui deaMs Rt FRpell SATa! Aot 3/ &g A, g
IR RTET UG ST AR, TR G MR BRIBRUHETER 3Te.

TIGRITEISB] ST RIY 8% BRIGT AR, DSl [Ediokiis I1. 3T ges @ &1 987 kiU 1.
T 7, ARPICID IGBeT FIRIPRUTRIIC! hacs MBI ReFTeR kg g0 AR g, TR S@d Iyl
IR JraTe} BTG T aRTT e Agwdl e, U A1 faaReRviy AeHyuiid gRiaw (Contextual
Archaeology) 3R a0 USe 3.

3TBIPS PIel GRIA ATeTel §e 1o 3MTed. AHaran i, amifoie aRfRId T it R gdr k.
PIGAHT TR BSBRIAT ST PRI [GaR Hlesd R, TET AR ST FO 3Tg. ThIa=ared] bl
QR QU e AT AR 37T

Read the passage and answer the following question from 1 to 5

Later half of the twentieth century witnessed emergence of new trends in Archaeology. New
discoveries in physical science and their application in archaeology resulted in an inclination towards
science. American archaeologist Lewis Binford pioneered the use of the methodology of Scientific
Philosophy in archaeological research. While in England, David Clarke proved that the New
Archaeological method of using, concepts from disciplines such as anthropology, geography and
environmental science in furnishing archaeological evidences can extract much more information.

New Archaeology can be termed as scientific archaeology. The main aim of the old school
archaeologists was to establish the chronology of human culture with the help of excavations. New
Archaeology considers this a mistake; as archaeology is not just about chronology. It considers that
it is the duty of the archaeologists to delve deep so as to establish with reliable evidence, the cause
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and effect relationship behind every historical event. A simple example of this can be the report
of the Mohenjodaro excavation. There were seven successive layers of habitation before the Indus
civilisation finally perished. I was believed that the Aryans invaded India and destroyed the Indus
civilisation under the leadership of Indra, their chief deity. This was a Rigvedic evidence of literary
nature and how could it be completely relied upon ? There is no physical evidence of the Aryan
Invasion. It can be seen that the Indus civilisation died away because of climatic changes. Scientific
evidence conclusively proving this have been found. New Archaeology focuses on the relationship
between causes and effect.

New Archaeology has recently invited some criticism. Professor lan Hodder from the Cambridge
University is a major critic. According to him, it is not enough to depend only on scientific evidence
for an explanation of cultural changes, but the context of excavated remains is very important for
their proper interpretation. This ideology, has therefore been called as Contextual Archaeology.

Now some Archaeologists have moved ahead of this ideology. Socioeconomic conditions of
man have always been studied, and now a study of the mentalities of ancient humans is gaining momentum.
How did religion and philosophy emerge what were the thoughts in the minds of the ancient painters
- such and other things are being studied. Archaeology in the twenty-first century is indeed going
to be very different.

9)  Uehld™TeAT Qciepleiies YRR T s 343 BRI

q) FEHYUIT RIS THRS 16 3.

R) PRIPRUNE g RITEId A HHST ST 3R,

3) mafd JAeHAY STedTEl Wit RETd UG TTE.

) W AT anfdie, ArTiorn aRfRIANETT TR ST ST I ST 37,
1) Archaeology in the twenty-first century will be very different because :

1) Contextual Archaeology has been refuted.

2) Cause and Effect relationship has gained great importance in Archaeology.

3) Material evidence of Aryan invasion is not available.

4) The mentalities of ancient humans are also being studied along with their social and economic
condition.

) e adeTeaT ITRIU RIaiderca] &A1 DUl Fal faRTarg BoisT ?

a) RITEIRAHE $68 301 MR Toeiidl 7 A HIe!.

b) FSHINT RITES R 21> BRI

¢) TR AMaTT AR RIS oard o,

d) Ricrafdern g fAeRRET gl AT fafder oRemear Hehed T aide BRI,

gt SR :

9) B (d) ?) (c) 3mfor (d) 3) (a),(b) 3N (c) ) (a),(c) S (d)
2)  Which new ideology took roots in Archaeology in the second half of the twentieth century?

a) Opinions of English and American experts in Archaeology gained acceptance.

b) There was resistance to Contextual Archaeology

c) Mentalities of the ancient humans began to be studied

d) Archaeology began using scientific methods and concepts of science.

Answer option :
1) Only (d) 2) (c) and (d) 3) (a), (b) and (¢)  4) (a), (c) and (d)
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e RuT ar d g R,

a) FHASKe eaes AT RIR faeary Saul STemei 3.

b) AT 3MEHHU ST Hifte AT UG TR

¢) TR geoe Ry Wt SaTeT Teard I iR,

ggift W :

1) (a),(b),(c) 2 HTet A 3

R) (a) M7 (b) B AR IRFT (c) & T YRUH 3L

3) (a) MM (b) SR MR, (c) I 3.

8) (a),(b) MM (c) 8 fTet amir amea.

Choose the correct option after carefully reading the sentences :

a) It is unscientific to believe only the literary evidence from the Rigveda.
b) There is no material evidence available of an Aryan Invasion.

c¢) There are evidences providing that the Indus Civilisation ended as a result of climatic changes.
d) He can removed from the post by impeachment.

Answer option :

1) (a), (b) and (c) all are correct. 2) (a) and (b) are correct and (¢) is their result.
3) (a) and (b) are incorrect and (c) is correct 4) (a), (b) and (c¢) all are incorrect

ST Sra

a) 3T B} i) PRIERUYE

b) %54 fohs ii) FeHyuiid QI

c) sfes FIb iii) STCRfA=EMRRT R

d) FagRIE iv) fasmrean drasmHrRt dgd
g IR :

@@ (b) (¢) (@)
9 () Gv) (i) @)
) Gv) () (i) (i)
3) () (i) ) ()
8) () () (i) (@v)

Match the pairs

a) Ian Hodder 1) Relationship between Cause and Effect
b) Lewis Binford i1) Contextual Archaeology

c¢) David Clarke 111) Interdisciplinary evidences

d) New Archaeology 1v) Method of Scientific Philosophy

Answer Options :

@@ b (© @
1) (@) (@v) @ii) 1)
2) (v) () (i) (ii)
3) (i) @) (1) (@Gv)
4) (1) (1) (i) (@[v)

MPSC IS8T g& GR1&TT 2032 : 9R-3 /7



For Private Circulation Only

y) AeHulid Ra@emET=T 7

a) TEGATET STRIN PRAMT Bhaes AT RITAR e g0l AT ATal.

b) I R IR AGH & aRId PRI FAST LTINS e 3T

c) RS ASIGRIAT AT Ja3T ST HTeT.

d) A TR TeARhT R0 @ R §Eg IkE IR

gt SR :

9) B (d) R) (a) ST (b) 3) (b) 3mfor (d) 8) (b),(c) 3for (d)
5)  According to Contextual Archaeology

a) It is not right to depend only on scientific evidences while studying a culture.

b) Itis necessary to understand the context of an excavated material for understanding its function.

¢) Mohenjodaro was destroyed seven times because of the Aryans.

d) The main aim of Archaeology is to record the chronology of human culture.

Answer Options :

Which of the above statements are correct?
1) Only (d) 2) (a) and (b) 3) (b) and (d) 4) (b),(c) and (d)

J3Ie IART AT 1A ITUTRT U2 HHI € o 90 o SR &l :
030 HEY Yo T UTul JeasT

STERIPRUT, AU IUIGH PRUINAIG! SaTd, DI aTe, eI arec! AR, R el
TR ATIRMATG! § Soft RISt uogRy Jroft ared 3fig, e 3. 9. 030 Tid go <o o Jeas!
USUIR 3TR. QTe SHT AT YA dle S0 IR 81T 378, 31 FARICS AeMH HAifiide. R W a1 SIfes
ST Yaifa ZARICS A1gFH et fSgt 4 T 2094 HE ST SI5 37841 SR B0 SIBviehe gl 4T AR
U] 3R SIGHURITAT 3THA SRICITT el & TI€ Doy, 3751 IGT 8¢ SAGE Bl FURIT g GRIE
fouTeaT TvaTET | SUGEY ATel. @Tes Hatd WeR GROH IRIe, IRARN 3% $6a e J RedieR gl

YRR YPATT STeb SRAAT RUHTSHIHS ShIci ST TMRelT &Y PRUATT ZhIcil STes! SRFe! TRI ST RIS
TRTUT STeedT {ERT T0ATeR S 10T GRAIT ST 4d AERTE d ISRAFHE Ued 3MTE 3R STgdTei [y
FRUITA 315 3TTe. VR FgUST Tl Aifeh Ugairen fafest a pumfosaid! Feam 9360 Ao 9 SUBET Ual B4l a0
2000 A 9% FUAGATRIT TG S SRR YR aTudTeR HIGAT JHI0NG dIv Ued 3Tg. 31 3TgdTeid
TECe 3R, HRd, I, U, -U® g SMaIeeT SHhies 77 yffrd amoft amoRara o/t & sredTeid 2o
3e.

3. 9. 040 R SHITT TSRO 4y ST Tid dIGUIR 3Tg. BRI dled e, 3HSrs Fott e
d TR ARG aTed! UIUgRT AFU ER1. ATEHHT0l ST o T STNG SFUTRITE IWTG PRI SHIUIR
SR g ST UvgTE AR Aeed™ SRR ol AFTUil goo Tl dIGUIR Mg 31 AT
T,

fARNT P epTed T IR BRI T dTeel AEXPRUTeS 37eeh ST el hfge o1l
fAugTeaT qToaTeaT JUGEITAR USd 378, 35T STie Yo Teh ®Idh AR AN g, Niie 30 T A BIdb
SYSUEIT e, 3. F. 040 T AR TGV BTl THUT AT €.3 UG G S ST 3G
FROITT BT 3ATg. AT MO FFIUT AT TGV Sl THIOH AT o Teh STR §4+ g droft
BRIV SUCARIS! 3MaTH 3RS, INgAS oI I Bl axuard Sfe¥ AT HRugre! Al
THERIRT RIGRA aRal.
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Read the following passage and answer the Question from 6 to 10 :
40% water shortage by 2020

The world is set to face a 40% shortfall in water supplies by 2030 due to urbanisation, pressures
of food production, population growth and the increasing demand from the manufacturing, domestic
and energy sector; said the United Nations. Ahead of World Water Day on March 22, the UN released
its World Water Report 2015 in New Delhi and stressed that the 'water crisis was one of governance
and not of due to the lack of resource availability'. Even today, 748 million people do not have access
to improved and safe source of drinking water and the worst affected are the poor, the disadvantaged
and women.

In India, the report analysed, the groundwater or tube well revolution has largely contributed to
relieving poverty, but the increase in demand for irrigation has also caused severe groundwater stress
in areas such as southern and eastern Maharashtra and Rajasthan. In fact, the total number of mechanized
wells and tube wells rose from less than one million in 1960 to 19 million in 2000. Groundwater
stress is also a larger South Asia problem the report said. India, China, Pakistan, Nepal and Bangladesh
alone account for half the world's total groundwater use, the report said.

"By 2050, global water demand is projected to increase by 55%, mainly due to growing demands
from manufacturing, thermal electricity generation and domestic use and the world will have to produce
60 percent more food and the global water demand for industry is predicted to increase by 400 percent,"
said the report.

Increasing urbanisation is causing specific and often highly highly localised pressures on
freshwater resource availability, especially in drought-prone areas. More than 50% of people on the
planet now live in cities, with 30% of all city dwellers residing in slums. Urban dwellers are projected
to increase to a total of 6.3 billion by 2050. The growing population across urban and rural areas will
need 70 percent more energy and water is required to produce almost forms of it. The report
recommends a host of measures to limit water insecurity.

&) Wioladehl DIV /DU TP UHEIH §5hles ged Yol fUuarear qugrer Siedid hisd I qeudrR

DRI AT/ e ?
9) 9t faeprT Q) afenfie=u 3) gred ATERIPRT %) DIPTSR
6) Which of the following factor is/are responsible for highly localised pressure on freshwater
resources especially in drought prone areas ?
1) Development of Agriculture 2) Industrialization
3) Increasing Urbanisation 4) Migration of people

©) WSIBUDH! BT e AHfid Tofed 3R ?

9) R 9™ ) R W 3) A g) 45
7)  Which of the following is the World Water Day ?
1) 22" March 2) 22" April 3) 22" May 4) 5% June

¢) TR UugTET A SUSG TG b T WTe! i armed.

a) R 3P b) IR 5T SS3S Bl c) Re
RSB BB PV 7T SRS 3Md ?
9) eh (a) 3T T (b) ) &eh (b) 3MT (¢)  3) b (¢) ¥) IS Tqd
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8) The following are some of the group of people who do not have access to safe water :

a) Poor people b) Disadvantaged people ¢) Women
Which of the above group of people is/are correct?
1) Only (a) and (b) 2) Only (b) and (¢) 3) Only (c) 4) All the above

R) 030 T WHIG TSH Yo% UIUAE geasl iU FIvAr BRUMYT 8IUIR AR

a) I IS dl b)) e ¢) STaregDrEt Wit d) BIpaET a6
TISIH P/ T dedsT FEiT guard HRUMT BUR 3Rd ?

9) ek (a) AT (c) ) Th (c) 3T (d)

3) W (c) 8) Wb (a),(b) 3T (d)

9)  The following are some of the factors responsible for 40% shortfall of water by 2030 :
a) Pressure of food production
b) Urbanisation
c) Development of water transport
d) Population growth
Which of the above factor/s is/are responsible for this shortfall ?
1) Only (a) and (¢) 2)Only (c) and (d) 3) Only (c) 4) Only (a),(b) and (d)

90) WIAHIBHD! PO I YERTT UIUIER TS A0 TS 3T STt e ?

9) 9 HERTY — ORI ) ST 3T g HERIY - ISR
3) IFRYE - TS g) S U - fdgR
10) Which of the following states suffered from severe groundwater stress ?
1) Eastern Maharashtra - Gujrat 2) South and Eastern Maharashtra-Rajasthan
3) Rajasthan - Punjab 3) Uttar Pradesh - Bihar

JSIe IART Te 1A STUTRT e 41 99 d 94 I IR 1.
BIHHET g

PP g eh ARAMT 7eg TR QUF ST BR THR THRAT A8, BIpa@iT o 9 FoR IRA
ST YT 318, R03Y IR R SIpEed] gald el HRl SR & SHIT U -eR 8lses SR A2t
ARIRT a6 RS TR, IR 3G Fh HAT TBST 3.

DIHIRZT AT PRUMAT IRAT BIpRiRT IR (SHUTHY) 3 T, SIhaweT ST eI
TR, S 30T TSR AT <A (uTieh gchiar SAaRdd 2l BIeaved] gaid o, I J ISR A
TSV UfhIT HOT 3107 Ueh<eucral QY ©u g1 AT ATET I vy 31T,

BIPEREIT AW TRIE foRIREd UT. J1eu™ Il & STTeRd JfaId ohob 3TTed. (i) ATaTeT JTRdcaRaTet
ST A TR 3. (i) PHIRTIAT AT TRST U], I AAJAR BIHH] JGaR §U TS T
ot el g™ ared SES. (9,2,8,¢ ... ) T YUY g P Tgd aled s (9,2,3,8 ... ).
BIPEET gl FRIAUTAIGT & F UBRT JMeRTY JfT o 3T ; APRIFD SFeRIY IO FaRep R,

BIPIRAT TS g TBRY RAAI. — AR (stock) MfOT Tard (flow). Blepevedn Fewia Hrfgairar
gl A TR SHUFT 37T Sff &% S8T auf= TRATED et ST, AlaredT IRt 2039 BT 81 aTdat
3T, SFAIUMT g ITfies IauTd GRvas] SRIT d WAIe JTeieaR HehleT T, Sl Jeral B, SR,
TR, ISR, TFI-ATR S Jomr, fosm 9o, SRR Sl 9 SR SHiidl Sl
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TR AATTT g SRV BIHRed] JgrdT &% U9 FIATRUIRIS! G I URUT SRMIHRUIRATST., YR0T SRAugTd
BIPAAT ARIS HISHT HGe Bl

JNRIRT BlpaErd J&! S&d Tl WRA ADPRA ADPRI YRV FATIUT s STV BT HHI
FHI TCHIR IR B5s5. BIHa] YRV FHNIIG Blbid AFYed Hedl gss 3fefl YR 3Te.
URUMBRS BT YR § AP HAMITIT FH, AISIHeH G2, HRU g FHT GRomM JreR
MR 37TR.
I X FH RO G SIS BRI HRT [0 3. A1ST TR .

T T BRI ARRAT IS TR Tehl BlHaT Jg! BHI &S 2.

Read the following passage and answer the questions from 11 to 15 :
Population Growth

Population growth is a serious issue not only n India but all over the World. India is second
largest country after China. It is estimated by 2035 India is going to surpass China and becoming
number one, if population growth goes unchecked.

Demography is the science of population. It include mortality, fertility and migration as three
decisive components of population growth. Its main concerns are the measurements and discovery of
uniformities in the basic processes of human birth, death, population movement and population growth.

Prof. Malthus well known thinker on the issue of population suggested two basic postulates (i)
Food is necessary for the existence of man and (i1) Passion between the sexes is necessary. According
to him, population if goes unchecked increase in a geometric ratio (1,2,4,8,........ ) while the subsitence
increase only in an arithmetic ratio (1,2,3.4,.....). He advocated two checks on population i.e. positive
checks and preventive checks.

Population variables are of two kinds- stock and flow. The important source of information is
national censuses which is carried out in India after every ten years. Population enumeration is due in
2021. This document is considered as primary which reflects on the trends of growth, rate of fertility,
rate of mortality, migration, rural- urban population, sex ratio, population of the scheduled castes and
scheduled tribes etc. Needless to say, it helps to the policy planners and demographers to adopt
appropriate policy measures to handle the population growth.

Taking into account the unchecked growth of the population the policy instituted by the government
of India to influence at least one of the demographic components of population change. Population
policy seek to enhance the welfare of the society collectively. An effective population policy rests
upon knowledge about the demographic trends, its likely future course, and its causes and consequences.

In short population policy promote small family norms, delayed marriage for girls, control the
spread of control the spread of communicable disease, reduce infant mortality rate, immunization
programmes for children etc.

All these measures, if implemented properly, will definitely bring down the growth of population.

99) HICLRTAT TEUUITIAR Bl JaR 949 G103 Alel R BB ... T aed STRe.
a) STHITOrCt b) i ¢) TOdhR d) I
IR SR

9) Beh (a) SRR ) b (b) IR 3) (b) 31T (¢) RIR ~ 8) Beh (d) NI
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According to Malthus population if goes unchecked increase populationin............ ratio.
a) Arithmetic b) Geometric ¢) Multiplicative d) Zero

Answer Options :

1) only (a) correct 2) only (b) correct

3) (b) and (c) correct 4) only (d) correct

T IART AT MUV BT 3refaer gl 2

a) T A=A Aasurt (kinship) d@t oTR.

b) BHRAEGRT Hfdd TIfect omg 3Ry euFId A,

¢) g IR SRigrIr v a1re.

d) BT JEHT T BIHAEIT JeIBRAT i FUIiId g HRUMT 3ied JraT rfEy gdl.
TRl SWw

9) (a) 3T (¢) IR ) () MM (d) RKR  3) (b) MO (d) KR %) (a) MO (b) WK
What do you understand by reading the above passage ?

a) It is a discussion on kinship

b) It is brief discussion about the population growth

c) It is a brief description of an ancient history.

d) Got insight about three factors which are decisive to and for population growth.
Answer Options :

1) (a) and (c) correct 2) (c) and (d) correct

3) (b) and (d) correct4) (a) and (b) correct

WRATHS SIPRST URUT TS I3deh! DIVAT ST TesdTgd o ?

q) Al TEATH ?) dPrIGeiR MU

3) PcaTAT AIGH] BRI ATTSID Hehcral il gial. 8) DIl B PR
Indian population policy promote which of the following ?

1) Women spirituality 2) lllegal abortions

3) Larger Family size protects from social evils 4) Small family size

ARATNS aATed! Sl IR IRUINIC! IHEI PIu /d STRRISHT B_Ul FAaRIH 3 ?
a) TSIIRIT ATS b) TOEET ISR ¢) goreaT s faarerT dieae

d) SFHERIT d16
Rl SW

9) Bk (d) SRR Q) Fh (a) SRR

3) Bh (c) IR 8) (b) 3T (c) SRR

In order to control the population growth in India which of the following measure/s is/are important?
a) Increase in infant mortality rate

b) Employment to men

c) To promote late marriages of the girls

d) To promote fertility rate

Answer option :

1) Only (d) is correct 2) Only (a) is correct

3) Only (c) is correct 4) (b) and (c) correct
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94) BIHEET STV AYT B AT a1 ?

a) drpavT fosT HToT b) ST R
¢) dpa) nfefliedr (TISiR) d) Irior — TR URIATT JTEUIRY SIhaT
it S
9) Bk (a) TR ) Th (¢) IR
3) % (d) RIR ¥) G Td RIS
15) What we comprehend from the population census ?
a) Sex ratio of the population b) Rate of fertility
¢) Mobility of the population d) People living in rural - urban area
Answer option :
1) Only (a) is correct 2) Only (c) is correct
3) Only (d) is correct 4) All the above correct

WIS SART AT TAR IMUTRT U2 HH1S 9 o 0 = SR 1.
HRANKI TH1Y faw e

&g, 3T TS FRBR AT AIBRIT Hc3es DIPRUT AT ICT TR bl ST FAHIT AR
31T TR TRDPRI FawdT (. h.) W, ST, TR M7 STep MRS <217l SAKI@TT 3N, ISHT
eI Faeemed AfhiTd 5T faIHTST 30T fIaRor 2id, 6t S T AE SRR TR gid. |l [G9omr
AARATYRYT T 3 3R i, FERTSITT AT (e fectel SO TeblereT 0T 0aRT 3aedes FRMATS Fm
JRIUR FAER b IRDRRT G ST, TR RIS TR FIER 5T ARBRMAT IRGH Sdes ST,
e for ravdt Q9 STH SeTERul U SMRT (F, TH.T.) 31fr et 21, T s o AR
IGT FER TRARI JGIT PR FHREBT 30T HAeT THIO e,

QT T AT ot el TR FaeeT ahg; MM I ARPR Felles faciiy Ay gfeaa awal.
R T P TR TR 3R Il ey fad add FuRm AT oo araededs R, @1 =oe; (i)
&g, AT I TRBGRAT [3! BRI FaARII0T guf FRuTIST Reft T A1eH Suced JTad. qefy, sy
AT, A gHE @ QU 9/ ATEl, ST Ui ARDBIRT RS ST 7ges AU Iid gyl Fedis
YT TardT 3fferep. U 31efl Uep T=u Mo aRul afraedes 3]d i, St dg T sifie fRrda
TS T8 3] 2hes (i) Ui ARPRDs s fRiT W0l 3R, Ui Hidh IRPRDS Qo
PR BRIGHRIIT YU PRUIN GaTd IfBR, T Hegard! AT ST PR BRI UDR SR ad
ol SRV TG IR 3T (iii) FefT e UeMRIgHTd RIS HEHTd CIUIRITS STERToI e
TS AT ThAHFT AT RO aTd TR

Read the following passage and answer the questions from 16 to 20 :
Federal Finance in India
Governments may be classified into unitary and federal depending upon the concentration and
distribution of power and the relation between the central and local authorities. Under the unitary
system, whole power of government is conferred by the constitution upon a single central organ
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and local governments derive whatever authority they possess from this central organ. This system
of government is prevalent in the UK, France, Germany, Austria and most of the countries of Asia.
As against the unitary system, federal system provides for a distribution and division of the individual
states of which the federation is composed. The general principle of division of power is such that
affairs of common interest to the federation as a whole and thus requiring uniformity of regulation
are placed under the Central Government, while all local affairs are left to the state governments.
The two classic examples of federal system are the USA and Canada. After Independence, India also
opted for a federal system of government on the lines of the USA and Canada.

The distribution of powers in countries adopting the federal system of government defines
the financial relations between the central and the state governments. However, there are some special
problems that have to be grappled within federal financial system. These are : (i) The sources of
revenue assigned to the centre and the states should be adequate to enable them to fulfil the functions
allotted to them. However, in modern states, it is frequently not possible to ensure this and it is
highly unlikely that the needs and resources of each government will be exactly balanced. Therefore,
it becomes necessary to evolve a mechanism of adjustments so that shortages and surpluses are
evened out; (i1) Each government should have independent financial authority, 1.e., each government
should have separate sources of revenue, powers to levy taxes and borrow, and to incur expenditure
to carry out its functions effectively; and (ii1) A certain uniformity should be ensured in all areas
of the federation so that no preference is given to one state over the other as regards payment

of federal taxes.

9g) g I o TRBR JrATS [T Feer SRIAUR T DI /PIordr ?
q) Ao A R) T et
3) QT (9) aor () %) BRI ey

16) What is/are a determinant/determinants of financial relations between the central and state
government ?

1) Sources of revenue 2) Heads of expenditure
3) Both the (1) and (2) 4) Distribution of powers

99) EISSUDT PIorT T el fod egaver waRret Mg ?

9) g, TH. T. 307 ISl Beh R) Dl MU YR Bch

3) g, TE. Q. DAST AT HRA Beh 8) I, . T, ST ST STRfosa
17) Which of the following countries have adopted a federal system of government finance ?

1) USA and Canada only 2) Canada and India only

3) USA, Canada and India only 4) UK, France, Germany and Austria
9¢) Sliear ST,

/Y -1 /Y - 11

a) ThIcHD TARPR i) S, SR

b) T PR i) 9Ra

¢) g, &b. B iii) g MO ST TRBRIT T ey

d) g, T. T. B iv) 4 T g ARPREBS Pbfod
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gt S
(@ (b (© (@
9) (i) (1) (@Gv) (i)
Q) (v) (i) () (@)
3) (i) () (i) (iv)
g) (i) (v) (i) @)

Match the following
List - 1 List - II
a) Unitary Government 1) Germany, Austria
b) Federal Government i1) India
¢) UK, France 111) Division of power between Central and State Governments
d) USA, Canada 1v) Whole power upon Central Government

Answer Options :

@@ () (o) ()
1) (i) (1) @Gv) (i)
2) (iv) (i) (1) (i)
3) @Gi) @G) (i) @Gv)
4) (i) (v) (@1) (1)

TR SARARGT A RIBRE aRuard ol 871

Q)T TIwIT wadd O urfiessor 3T,

b) TP FRORST T Tee AU IRATEI.

¢) X INPRUIR T I,

d) S IR TEIe™ By I 5T FPRIT FHM d1ey E.

Tt SR

) (a) Hh R) (a) 3r ((b) ®h - 3) (a), (b) 37T (c) Heh 8) e Hd
The Present passage recommends this :

a) Independent financial authority in a federal system.

b) Separate /Independent sources of revenue for each government

c) Powers to levy taxes

d) Equal distribution of federal revenue between central and state government

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) only 4) All of the above

g faym /faeam anesan

a) T g dg 3T o IRpRAie faxfia deu ffead axa g,
b) FEfi @gwer 5T WeRgis fadia deu ffead oo,

¢) FET awT dhg 3T 5T RepRMefe i e e o
d) T TRPR T e ReRmefte i d9e FHfeag ao.

WW:
9) %eh (a) 3T (b) RIS Q) W (a) 3TN (d) SRR
3) Wh (c) 3MT (d) SRR ¥) Heh () RISR

MPSC 39T g8 G187 2032 : yiR-2 /15



For Private Circulation Only

20) Identify the correct statement/statements.

a) Federal system of government does not define the financial relations between the central and
state governments.

b) Federal system of government defines the financial relations among the state governments.

c¢) Federal system of government defines the financial relations between the central and the
state governments.

d) Federal system of government defines the financial relations between the local governments.

Answer Options :

1) Only (a) and (b) are correct 2) Only (a) and (d) are correct

3) Only (c¢) and (d) are correct 4) only (c) is correct

Jel® SART /e MeR MR ¥ i 9 o Y o Ik =
yh1eh quive

TRILTTT FHIAS faefd Jaehiy TR JuiuCHME 37Te. XIS T (F9 aRaTGd el Jahid oRiT) © gl
foR[d gahig R 3Mmed. fagd gehr oR (Electromagnetic Waves) g fagld @ Jaebig (rchl) &3 Tepl
fsepToTest = fepToft SreTfed &va sradTd. arRaTRar (Frequency) d a7 @il (Wavelength) 2 fagd gaehi
quiYeATE TUTUH 3R, HehIeT O JUUCTR (spectrum) STEihs SAfTeRT PHHI IRATRAT SHUR TR IR
et IRATRAT Yo T g &a-t qNTTd! IRATRAT 0 BeeeT o R0 fhedl geed 3. PH aRaTRal SRIvm=AT

RfSeT TR GRARAT 9o fFdT geeat T 3oo fNT EEST I 3. TRIT AR (ARIPIAE)
IRATRGT 9 T g1 O 300 T Bécet R 31a. Tieiiar auiyeed aRaTRe! Haiar 3x9o™ o 3x 9o géegT
ST 3R, AWML 3R (Infrared) IS (ultraviolet) S8 GeT ThIRIMET GUIYCHE FHIGY 3RAdT. GeF
garel fawondl aRaTRar (Frequency) 8.3x90% d 10.4xq0™ gt Sadl 3. DR avmedn deHid
IRATRCAT ISP AT IR A1, TGSt axT Bt (Wavelength) a1 S@E ol ST, TR Bl AT Hiex
& ThapMe S SIIcaHefie IR AISTUIRITS! BT STl YD aviT Siel 1oy T 3RAd, off Friex
37T TAREPIFICY UhMe AISTo! ST, Ge UehTel fomuTidll oRAT Sielt HATGT MY goo o Yoo FMICR fehar
0.8 d 0.9 HRIEHHICR Sl IR, STYoedT T TehTeTel oI Siel PHt 3RTd, o) 3faReh (Infrared) TepreT
fouTraT | IR SVl SHeiid 3d!. 39T fauudias Isrdine 3ifiries fmundt Fafer srd.

Tp1eT fhRUT TR XS FART Rl Hureit fohar [ foeam e framse eprer foRur wd et dves
T TaRT PRATA. BT R 3,00,000,000 Hick Ui 3dqdhl, TgUNIE 9,¢ S, 000 He UfcRice ol
ST, YRTETTET OT AT ST HTEIHIIT WA dhvcll AR AT SR, aR fIebasT Tepterrar o gamerd fasar fyafa
QI HaTATET o Gefelial SiTg. ShTered ATEHIT UaRT a1 HepteraT o &+l gl

TepIT fPRUMeS PATT ThRH! 966 dxal Jadl. Fear Fgra™ Ublel fRume dgiawor fobar
ferepgiten=ur v . FRTFT FerRA I, foalt (FrRTerge), Geraell (Arishiepiy) 311for gfoft (Sfosepia)
TIR PHRAT AT, THIATET GRATHT R IRY ARTAT Y YeSTeR AV FehrerfaRurar i g1 URTafdd grom=m
SRPTIEARUITEAT ehIFTSCehrd STRACH. STUdc &l HehleIrdT ST UTeH 37Tg. Hehlel fehRuTTe aehive SiegT TepTel TepT
AT ST HTIEHI a2l hRall <iegl Bidl. TR oiell, GIRaTRT SATOr Heplemra i T GepHepiell e SRl
TR @il T aRARaT T TEHEiet IR FeY 3R], B Uhds oiel HEY gt Fdier fohar
RyshHemey i S
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Read the passage and answer the questions 21 to 25.
The Spectrum of Light

The light is kind of electromagnetic spectrum. Radio waves are electromagnetic in nature. Any
electromagnetic wave is made up of electric and magnetic fields that travel through space from one
place to another. The basic characteristics of the electromagnetic radiation are its frequency and
wavelength. To put light waves into perspective with lower radio and other frequencies. The left end of
the spectrum is very low frequency electrical signals such as AC power S0Hz and audio or sound
frequencies in 20 Hz to 20 KHz range. These are the lower frequencies that have long wavelengths.
Higher up frequency scale to right is wide range of radio frequencies.

Radio frequencies range from 10 KHz to 300 GHz. Microwaves extends from 1 to 300 GHz.
Even further up the scale we find visible light. The frequency of Optical spectrum is in the range of 3 x
10! to 3 x 10' Hz. This includes infrared and ultraviolet as well as visible parts of the spectrum. The
visible spectrum is 4.3 x 10'* to 7.5 x 10'* Hz. But we are rarely referred to the frequency of light.
Instead we state light in a distance measured in term of the meters between peaks of wave. Light waves
are very short and are usually expressed in Nanometers or microns (one millionth of a meter). Visible
light is in the range of 400 to 700 nanometers (nm) or 0.4 to 0.7 micrometers (Lm) depending upon
colour of light. Short wavelength light is violet and long wavelength light is red colour respectively
Right below the visible light is region of infrared rays cannot be seen. The source of most infrared is
heat. Right above visible spectrum is ultraviolet range. Infrared and ultraviolet are included in what we
call as optical spectrum. Beyond that are x-rays, gamma rays and cosmic rays.

Light travels in a straight line. Light rays emitted by a candle or a light bulb, move out in the
straight line in all directions. Light travels at the speed of 300,000,000 meter/second. i.e. 1,86,000
miles/s. The speed of the light depends upon the medium through which light passes. The above speed
of light is in the free space means light travelling in air or vacuum. When light travels through glass
medium its speed lowers.

Light can be manipulated in many ways. Lenses are widely used to focus, enlarge or to decrease
the size of the light waves from same source. Lenses permit useful device such as cameras, binoculars,
microscopes, and telescope. Reflection and refraction are the important characteristic of light. The
law of reflection state that angle of reflection is equal to angle of incidence. Refraction is another
characteristic of light states that it's bending of the light when light rays passes through one medium to
another. There is relation between wavelength, frequency and speed of the light. Wavelength is inversely
proportional to frequency. Unit of the light is generally expressed in terms of nanometers or
micrometers.

29) 3a%Th UhIeT fRRUNdt aRaRar & STivoedT WA UehTeT fhvum Uet ...

q) PHH! SRI R) SR 3/ d 3) RR 3= 8) qIGUD! Tl el
21) Frequency of infrared light is .......... than violet light.

1) Less than 2) Greater than 3) Equal to 4) None of the above
Q) UPIART AT ..o 3.

9) 3 x qo¢ Hiex ufeRidg Q) 3 x 9o¢ dfeHiex mfeRyasg

3) 3 x qo¢ fhoIHieR uftrRidhg 8) 3 x 9o¢ T TR
22) Speedoflightis.........

1)3x 10° m/s 2) 3 x 10% cm/s 3) 3 x 10% km/s 4) 3 x 10® inch/s

MPSC 39T g8 G187 2032 : yiR-2 /17



For Private Circulation Only

R3) TPIY T G ........... AT 3R,
9) YT TR R) fa o=
3) faegd ol o 8) aRISUD! Thdl T
23) Lightis generally in the form of :
1) Magnetic Waves 2) Electrical Waves
3) Electromagnetic Waves 4) None of the above
W) YD T T ... ey faob 1.
q) Hiex Q) dfedex 3) fafortex Q) =T 3T ARIShIHTeR
24) Lightunitis generally expressedin ..........
1) Meter 2) Centimeter 3) Millimetre 4) Nano - Micrometer

2Y)  UPITAT quf GCTHE hIUeAT UhIT FHEeT STl ?

) ST U1 g Ifcrles FepreT Q) IS T IO ST Hehral
3) TaRTh fhRUTT TehTel SMOT GeF HepreT ¥) NISUH Jeg

25) Optical spectrum consist of ..........
1) Visible light and ultraviolet light 2) Invisible light and visible light
3) Infrared light and visible light 4) All of the above

TSI SART aTg TYeld 997 shHid € o 30 It Iax fosgr.
NICERIC)

Siieera & dfed gch IaTa SEueiRITe Afiery FHHt JHIuNd SRIdTd. IRIRI® S/ Agwaqu
FRMR AT RS SRIT; ARV sRaeft StaRid & BIal TiRd UNehied] aTRMIe! S i HfoF, e,
FEERISE AR PME Jd. SN SiiaTad & SIfdery ol yqmona Jdrd; Ot JIRRT Snfor eRR
RG] 3T STRI S, BT SHaRaia Sicgl Q] PRIeY Y BAST R el IR a07
qut HTEI ST degl T SHaRid 3 St 3, sha i C, St D 3T el T SUARTRITS!
SiaRFETe! D G0 Jul FHSIedMoR. T STl XfcAi®, ™, Ravsiod, epifad e AT
PIS—DAhRIcs &N AT 3Nesdes ST,

SfigeRAETe FIRATLRUIIUT SHffehRUT @ TudTe fREUIRY Sfiarid ST TRa e fREURY Siaa 3
P M. 3 PSR SIgTG 30T Thifeh 3 g M= aid Adid R Sfigag A, D,E 7for K 3
TATE TREGURT ST, I fRE@URT Siigw SRRIG A1GT 7 J18d; A I ol Sard a”
WA fRIURT Shaae & eRRIT A6ds! S, & PRUMS aRaed f[RE®UIT Siiefarar
St 31 AT S & 3 & i 2lss el

MG ryar Siiaa@ o1 g YD UPeNal TE ARG SR 3R, AMed 3 Stasrarat
HHCRAT Bl ALY UK. Sfiaacd 3 T TURHT Ueb Rl =gUrSl UUISI31es Iaeplos] wef @i, T
3T SfaRT o € Prdl uerRiiaed Sy ot Boft, qu, qY, Sieaie Jodw, T P SR HEY R
IS SrAuGTIAe) Sfiemre o1 € XSl &1 TRpRI 9. &1 SrAuereiHed fgeedn Fr BRI~
T S 3 S IRRIT TedTaR a3 e Ieesd WU i1 'Hifegci ' 3Ry Adieres ST,

g D 2 gTSTaT aTENATe! ST ShicRIedT FTTaIRITS! STRRT 3. ATGIATHET 3TTehos o
SIS AR AT B d gL SHIUIT Hgwad P ST 3n .
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VDTS 3Mcriies fhRUT & e SRIBeT DIGERIG SHgicegd SiaTee D H& DUR T,
SHa e 3dl PAARAT &l Rapes MMM ARG RIATST HRUMT o, $8M SHE Siaefe Sd T
00 — Yoo WU UqQ AN §d; I IWBCTUIT AT TAUBILNT HeoT UG IR,

Read the following passage and answer the question no. 26 to 30.
Vitamins

Vitamins are organic substance present in small amount in many foods. They are required for
carrying out many vital functions of the body and many of them are involved in the utilization of the
major nutrients like proteins, fat and carbohydrates. Although they are needed in small amounts, t hey
are essential for health and wellbeing of the body. When these vitamins are discovered on the basis of
their function and before their chemical nature fully elucidated, they used to be designated by affixing
the letter A, B, C, D or in terms of their major functions, viz Antixerophthalmic, Antineuritic,
Antiscorbutic and Antirachitic Vitamins. After establishing the chemical nature of the Vitamins, they
are now referred to by their chemical names such as Retinol, Thiamin, Riboflavin, Ascorbic Acid and
Cholecalciferol.

Vitamins can be broadly classify as water soluble and fat soluble vitamins. B-complex Vitamins
and Ascorbic Acid belong to the former group while Vitamin A, D, E, K are the fast soluble Vitamins.
Water soluble Vitamins are not accumulated in the body, but are readily excreted while fat soluble
Vitamins are stored in the body. For this reason, excessive intake of fat soluble Vitamins, Vitamin A and
D can prove toxic.

Retinol or Vitamin A is necessary for clear vision in dim light. Lack of Vitamin a thus leads to
night blindness. Another function of vitamin A is to maintain the integrity of epithelial tissue. Retinol
or vitamin A is present in some foods like butter and ghee, whole milk, curd, egg yolk, liver etc. In
vegetables food Vitamin A is not present as Retinol. These food contain yellow pigment called Carotene
which is converted into Vitamin A in the body. So they are termed as Provitamin A.

Vitamin D is required for bone growth and calcium metabolism. It plays an important role in the
absorption of dietary calcium from the intestine and its deposition in bone.

Vitamin D is formed in the skin by Ultraviolet rays present in sunlight which convert a cholesterol
derivative present in the skin to Vit. D. Lack of Vitamin D leads to rickets and osteomalacia. The
Vitamin D requirement of child is placed between 200-400 IU; which may be obtained in great measures

in tropical countries through exposure to sunlight.

%) FEH IEMY SiaTd '$ T FHIU TaE B ...

9) o0-goo I ) o-Yo [U 3) oo-goo [U ¥) o0-goo HRIHIH
26) Requirement of Vitamin 'D'in child is ................. .
1) 200-400 mg 2) 20-40 IU 3) 200-400 TU 4) 200-400 ug

9) TS USRI AT Vasl Mol SRS gch 3RTd
) PRPHIA Q) IRPHMISS 3) RN ¥) PRIfeASS

27) Invegetable foods, instead of Retinol following chemical is present :
1) Curcumine 2) Curcuminoid 3) Carotene 4) Carotenoid
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WSS i i STRITT -

a) AT, arafis, R nfir PIB-FaRRls & Staaa 3.

b) e Y THETONT SRR SRIAT.

¢) 3RpID M, fedie MM FORIGH & e s

d) SiieRra a7 SRS TR JgUT BRI g IIATUBUURT PRV 8lcl.
RGUhH! P atT/9ai I med ?

) (), (b) 3N (d) B FeT 3T R) (c) 3T (b) B 3 3R
3) (c) 3T (d) © 3T 3med 8) (a), (b) MM (c) & F 3MMed
Read the following statements :

a) Retinol, Thiamin, Riboflavin and Cholecalciferol are Vitamins

b) Vitamins are needed in small quantities

¢) Ascorbic acid, Retinol and Chlorofin are Vitamins

d) Excessive intake of vitamin 'A' can lead to night blindness
Which of the option given above is/are correct ?

1) (a), (b) and (d) are true 2) (c) and (b) are false

3) (¢) and (d) are false 4) (a), (b) and (c) are true

StigmraTd qff=ol 3RT o I ...

q) e Mor sRife Q) TR fREruR MM aroae foREwuRY
3) IS AT SRS ) g ST SRAJH

Vitamins are classified as .............

1) Organic and Inorganic 2) Fat and Water soluble

3) Essential and Nonessential 4) Saturated and Unsaturated

W BT ameics $os a9 § Sarad D' T Jiedid @ie 38 ?
q) SiigeF@ ‘D’ g TeHe GIR SI0IRIIGH JUUEhTRITEr SIRost 3T

Q) SRV SR Sfigag ‘D’ g =T Al

3) Siata ‘D’ =1 dHRAg Rbed gl

¥) Sfiadad ‘D’ g TRaTE fRI®R 3R

Which of the following statement regarding Vitamin 'D'is false ?

1) Sunlight exposure is necessary for formation of Vitamin 'D' in skin.
2) Excess of Vitamin 'D' is not harmful

3) Deficiency of Vitamin 'D' leads to Rickets.

4) Vitamin 'D' is fat soluble

JeIe IART ITgH WTAR STUTRE 987 i 39 o 34 I I @
% ¢ 8 3 U IMId USTiid & Uehdh 31T i S gHTa T IRTRIF Tireiiea /aqreran aeht

HER SR ST R §.03x 0¥, IRRIGRAT SHHIPIZAID T IGTITAT JAT U SRAA. I 0RT SR
g T IS geriE T UeRiT doe dRgHM ST MM O v &1 e yerfen gardie
TSSATT AT AR SRIST o fHiesg ], Gl TGO FBRISSI IH X0 dRGAM 36.4 IF B
3TUT ERIGISTTA JAURIAT 9 3 FHRIT SARIAT 3Y4.4 I FT SRS o fesa A, argpd derfa
I e e @ T aRfeY ST Hied, HIMd G 9 atm = 909.3%Y Pa 3T aoEEE (03 K)
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T3S e g .8 TT-oRHIcR 3ad 314, &9 Tthed JTUUT HIUTE] SR STe ST ATGHTAT S ThodTd
AT GR FHIGROT 1o e 2Tl

RIS RIS gl Hecdhl G JhR : 89ha (ATIHMTER 3aaed) SeRd : TRIAr (M),
TR (N), ERighd (F) 3T aRgA™ (ATOHTeR Sfaaed ATar) STUTRA : Aadl (m), JFRUSTT (x)
USRI RATd. JFRY] Fech, M, & T gsRIHIeR Srauna &1 S fohdt Hics Mg &TeR ORd. TRATHIT,
N, g 3R TP Helid SR AIswR Udhdh Mgl 1 [Aavuii Sreard Sl (ARId T9a@!) = AFD
AT RETT TR (WTEId RIS ST FTaes SITATH fAeUTTd STffshar AHteuIfcid! saedendr
. FERIT, N, 8 U SRR SIavd &1 e fod! Svedl 3Ted &leR 3xd. aTel IRTRIeh
SRR T e TR, & T IARHATHRDB IRIAM S Jrard IR I TOIR. 3.
a1eft 3R ST AHCIIRIE ARET. ‘T SIATd 3R aRGAM Dl SATT 9 9T GRIGSH 3T, ST 9 |
grrgomeht Srfiifeha aRa fhar 9 9w gRIgeH fovenfid aa’”.

IR e SAPRD IGT M3, Neeh IUGed IRIAN. oA FANTIDHRAT, TANLSHE Iie Fget
PR foRS GavT AT FHTOTT ol RIS ol TRoid 3R, 8 foRe, et Sravidies Aieaeen fhar
T T B R gravclies Aioavedt fihar Ty IR Sahia JTe! UTfest &l Fgared] YRR e
3R,

RAFTR TG SABO!; HBSAT U Tl b SIadhmed fdRasdse Srerd! Al 3T
YERULSTST (x), BT Ul STeaTed GIauiHed) Td Grearal JRujeieT & QM Uahdh 3iTed.

(M a¥gH™ : H=9,He =%, Ne= 0,N=198,0=19%, S=3,CI=34.4,, Ar= 8o,, Ag=90¢)

Read the following passage and answer the questions from 31 to 35.

The mol is a ST unit of the amount of a chemical species/substance. It is always associated with
the formula and contains 6.022 x 10%. Avogadro's number of particles of the species represented by
that formula. The molar mass of any chemical substance is the mass in gram of one mol of the substance,
this can be obtained by obtained by adding the atomic weights of the component elements present in
the formula of the substance (eg. molar mass of HCl is obtained by adding atomic weight of H ie 1 and
Clie 35.5 =36.5 g). The molar volume, ie 22.4 dm? is the volume of one mol of any gas (assumed to
behave ideally) at 273 K and 1 atm = 101.325 kPa pressure (STP). This volume can be converted to the
volume under any condition of temperature and pressure by using general gas equation

PV, _ BVa
T
Chemists express the concentration of chemical species on the basis of volume (temperature

dependent) ie molarity (M), normality (N), formality (F) etc. as well as mass (temperature independent)
ie molality (m), mole fraction (x) etc. The molar concentration, M, of a solution of any chemical
species is the number of mol of that species present per dm? of the solution. Normality, N, is a more
convenient unit of concentration as the number of equivalents of an analyte (unknown concentration)
present = the number of equivalents of the standard reagent (known concentration added. As consequence,
the stoichiometry of the reaction need not be derived every time a titrimetric analysis is performed.
Normality is the number of equivalents of the solute present per dm? of the solution. The umber of
equivalents is the ratio of weight in gram of the solute to the equivalent weight of that solute. The
equivalent weight of the solute then need to be known which is defined as "the weight which contains,
combines with or displaces one part by weight of hydrogen".
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Commercially available reagents ie acids and bases are highly concentrated. To use them in

laboratory for routine experiments one needs to dilute the solutions with definite quantity of water.
The total number of e equivalents or mol in both, concentrated and dilute solution, must be the same is
the basis of the dilution.

The mass based concentration units are molality, m, ie the number of mol of solute dissolved in

a kg of solvent and mole fraction x, ie the fraction of the total number of mol of that component
present in the given solution.

39)

31)

3?)

32)

33)

33)

33)

34)

34)

35)

(Atomic weights : H=1,He=4,Ne=20,N=14,0=16,S=32,CI =35.5, Ar=40, Ag=108)

THT AT fIgeivuma, 4 gRifcHieR 0.9 B A-EH 3 ... gRIfeHIER 0.3y N UicRiem

9) Qoo ) o 3) Yo 8) Y

In a titrimetric analysis, 25 cm3 of 0.1 N HNO3 would react completely with ............ cm3 of
0.25 N KOH.

1) 100 2) 10 3) 250 4) 25

STl 8.8 3 HySOy 8 T ERifeHICR Srauie 3RAd, degl <l SIaurll JRIHTICT 0.03Y N Sdehl 3R,
RA = ...

9) ¥ ?) Qw00 3) gooo 8) 2
4.9 g of H,SO, is present in V. cm? 0.025 N solution of sulphuric acid, then V.= ...........
1)4 2) 2000 3) 4000 4)2

9o IH IIGHY BIGSTHR Hy, A & 301 ATUHAR gRIGSTA ... Oel SR

9) 9o ) 4 3) 9 8) 0.9
10 g of gaseous hydrogen H,, at NTP/STP contain............... mol of hydrogen.
1) 10 2)5 3) 1 4) 0.1

© I agHY A-GISFE Ny 2 atm SETT 30T Y8g K TOHFR ... qr* S TThe IR

1) Y.% ) AR 3) R 8) 393.%
7 g of gaseous nitrogen N, occupies ........... dm? at 546 K and 2 atm.
1)5.6 2) 11.2 3)224 4) 313.6

FIGUIARIER 3TFeied] TN ARG, auieal Piurdre! feaeft @ieiietudh! FeTd amT Hedt
T /TP ... g/8 3/ 3Tmed.
9) Teh FARULT ) Teh SAMHTRIAT 3) Heh HietAdT ¥) T T

On any day of the year, to use in laboratories at sea level the most correct concentration unit/s is

1) Only molarity 2) Only normality 3) Only molality 4) All of the above
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Jeiel IART ITgH TR SATUTRE He7 HH1 3§ o Yo I IR &l

HHAATHD AT AT TR edT JTdd Ufoa AT, U IR qeft #roft R @R d5a
AT AV AT 3ATg 3 FeUIT Usel. Teh Iaexvl IR/ 3MTE : HSHIPRIAT SUAIT 3RAetel HERST Qi e a]
RS ARFTEleT AT ATeUTeaT AlSieR JATUTRG . b g Tdodler d GER 1oy Ideier. ©3 2T 3T vy
] HCIGRRI P! Y 3T Iy AT A ITcfodl’ IR o] Tl Tyl dlebeld dgal el
30T TepT 31eff Tc-i=aT Jerd ARa~d e dhel 3R UK Isel. TR foeRig Sa-ien ' fegsfuama’
3ffel 3RT GRUNT JTed 3RSl A AT ISaAIe IR IRTeied] HERTY ART-Ual 3fftep fadbfoa Fapurd
HERTSYT JNEI@TT 3TTel 3R TGO Usel. TeATed IR SRICIedT AR fIehg iU Hehed-iall 3R
fEeITS a1 T SRR e Feilg Tawmure Tfifd oy 3. eeRieR 'FeeaTe’ d " esfRYedr a1
ST i ST G IRaTel UeAT QUIRT SR ATel, RN T MERATST AR Fehe glehl. TR 4
ST 98%9 e JfTeted] TdIF 3N YRV FHISEIG AT Hepod-d Hgw allbel 3Tg 3 UK sl
3FITC, T AR G AT TR FHSTel! etell Hel uiaur SfeTed aT afds HSToar! TR T8t
g TIT 3R, ST PIIie A ST FeaT 1D, o d 37fRies aRRIT SRR o SuaRITd!
3T 3P AN AT T TGeTvl T 3N g Ao Hclel Tieot. Il dxaal Rigid §4g g war=
ATeR reared faarerdt 1t TR aRa). raeRieR a1 Rigiam wrie ffifda dwed o1l @ wafer =mierrer
AR TCHS ADTal Tfshad! FerTd fCehfauar SaeeRt AATTed U AN FHdId odld Ao el
3.

Read the following passage and answer the question from 36 to 40.

Conceptually, the idea of basic structure is not sacrosanct, but is not amenable to change if
circumstances so require. An example will suffice here. The federalism that the founding fathers preferred
was articulated as a scheme of distribution of power between two layers of government - one at the
Union Level and other at the Provincial Levels. The Seventy-Third and Seventy-Fourth Amendment
Acts, in fact, altered the basic structure of the constitution by introducing 'a third tier' besides the
Union and States and was therefore 'Violative' of the basic structure. The introduction of a third tier is
a striking distortion in the prevalent two - tier structure of governance because this change is in the
direction of greater federalism than what exists. However, these amendments were appreciated for
having translated the notion of 'democratic decentralisation' into practice and are thus reflective of the
organic nature o the Constitution. Similarly, the introduction of the terms, like 'Socialism' and
‘Secularism' (though the former considerable cost its salience with the adoption of the 1991 New
Economic Policy) did not disrupt the basic structure simply because these changes evidently commanded
‘general assent'. What is thus critical is the fact that the values of the Constitutional structure that the
considered 'basic' or 'fundamental' are not entirely sacrosanct, but are amenable to change if it is
absolutely necessary to keep pace with the Social, Political and Economic milieu. Although the basic
structure doctrine creates a contentious space, it none the less has struck 'a balance, if an uneasy one,...
between the responsibilities of Parliament and the Supreme Court for protection of integrity of the
seamless web [of Constitutional Democracy in India]'.

38) 3 AT T WY AT TSI SR DRIETGR JeleTih! BRI IR el el ?

a) o ORI =R b) AlBdifFd gt

¢) AASHR @ 9 T 9¢ &R Tefdel d) dgafia TeaeHt Frme

3 IR 91 -

) (a) Beh R) (a) 9 (b) 3) (a),(b) 9 (c) 8) aRleTich! e
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What was introduced by the 73rd and the 74th Constitutional Amendment Acts ?

a) third tier of government b) democratic decentralisation

c¢) reduce the age of voting from 21 to 18 d) rules regarding union territories
Correct Answer Options :

1) Only (a) 2) (a) and (b) 3) (a), (b) and (c) 4) All of the above

93R9 ATl YRA ARBRT WDPRetedT Fa 3P YRUMS JeicTueh! DIV e Hgw DHHT FiTet 2

a) TS b) HfRUE c) aliperel d) HERTSTATS
3 IR T -

9) (a) Bh R) (a) @ (b) 3) (@) T () 8) (a) T (d)
Which value cost its salience with the adoption of the 1991 New Economic Policy ?
a) Socialism b) Secularism ¢) Democracy d) Federalism
Correct Answer Options :

1) Only (a) 2) (a) and (b) ¢) (a) and (c) 4) (a) and (d)

Yol Poe MM “HaRe dedt’ geifdett S ?

a) AT ST e

b) WA Ahed-aT 3T fahar faemrTe Haf gaa

¢) HAGR I I e fcfefiear ga waren aemer 3

d) HHY SHRAT MG EAaHt HILR HehotmT

3 IR 91 -

q) (a) 31T (b) ?) (a) ST (c) 3) (a) 3for (d) 8) (a), (b) 3T (c)
Which of the following statements imply 'general consent' ?

a) support among the people

b) general rise or growth of a concept with agreement from all.

c¢) acceptance among the electorate and their representatives in Parliament about a policy.
d) doctrine about the general collective intellect of common people.

Correct Answer Options :
1) (a) and (b) 2) (a) and (¢) 3) (a) and (d) 4) (a), (b) and (¢)

99 HTefl FlepRelel d 3AMfies YR ...

q) FENERER ATUTRT 8. Q) FHSTETGRAT el T Feft Ted.
3) FENaERISE devel 8. Q) FHISTATCTT el U9RIT dRUIR 8l
The New Economic Policy adopted in 1991 was ...........

1) based on Socialism

2) not at all related to the principles of Socialism

3) indifferent to the concept of Socialism

4) praised the principles of Socialism

g el Axa-ed Pl eiHe g8q7 el Jeattd FHLT PIVIT HRUTHT PRAT A ?
a) AT JEAAIC Ieied] U 328 3A1E =8UL.

b) AT PIBERIER T IRGUAATS! YOTIUr ATATDH 3T FEUL.

c) MR, 3N g IoThry TR AT a1 95T TP 3ATE TV,
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d) AR 3RTetedT ATUBRIAT eI oAl FRpUTiel el PRUINITSI,

3 IR 91 -

q) B (a) ?) (a), (b) 3N (c)  3) (b), (c) 3O (d) ) TR T
40) On what grounds are changes in aspect of the basic structure of the Constitution Justified ?

a) Because it is the wish of the majority party in Parliament.

b) Because it is absolutely necessary in order to keep pace with changing time.

c) If the change is necessary in the context of Social, Economic and Political Milieux.

d) If the change is in the form of value addition to existing rights.

Correct Answer Options :
1) Only (a) 2) (a), (b) and (¢) 3) (b), (c) and (d) 4) All of the above

Jeiel IART ITgH AR STUTRE e i 89 o 8y o I @I

ST 3T T FHBHR T AT iy ATt TIeTgdes $1et =gurerg =i T, et @bl e,
fepeft Rrer-fer geft, Tail 1 gehiean SRA aRaad ! fobell IRT-W, fobell arae—faep, fepeil <ereran, fépelt
AT R ST Aied FHIGR 37e. a7 AT ARTedrd SAIEhR P EerE g, 8 el
T, g9 A, wEer NRes SR g fAcelel! goit PR Ssa fbar fomm e ekl @R d I g
R, S el 3 O iRl Uit ST AT SMURIER 9 gHRd STemaa™ f@adi= Iu Wfger uifgs.
ST 3ME T PR Ul G e Al FaeT au] (aed AgeTel Hulel FHUM T9d. el 4e 79
UTEUIRY, SR SiiaHTehs HUTRY Ueh 3R, e IR T STARATTT 3R, 81 WRUTT, & 3ol Sof | HISITelT S
L ST TEL o AR T AU Ve ST A @ S A A IS/ DU gl St i 2 3. &
Sttt ISTIT 8. HABIIAT AT 7] FHS TTeTal SRAd!. JfUhIees quiqul ST 3/ TeT ared
3RTCT. Al ITed 3RAal, -2 Yetihs Sirall. STt fIeel ger giar. o ral o)l gid Siral, §99d STl g9 T
fthed ; g9 I fAQy e ; 29 foehe. aiRfRucTel SHET 80t ot Afie Sfiaw SRT SR SITauT 31ef hel,
R SR R aerd 3ie dIwRid & Hfden Siamal IGuR A8l T8l ageld Jalel M1 FuTe St St
STeI U T STedI fozfel <t ST ATg! fORIvIR. Sfiered 1 FaRpd e GoRTa! ATel fI0R. ST oY YcTeblet
Sfia TSl 3TFe! SRY 3R #gcel @ AHS] AT i o AT Flel, X1 d ST BIUR Tel. ASFAT Ples! G 9Tqg
Tl fohar Feagciel IR g8 9 ATEld. o A Jfore URRRITT SRIAT 3fled. 30T uRIRI sgerd
TG TR ? el Faql g GRIRUT FHIe Fas SRIeT aR 2 TRigl 48T Ged el DR fell L TgH! agerd
AT epefos AR Jovg BvaTe @R =ifcre Sila Tel. JATuedT LT aRIRU 3ifRrepiiRics srgdpet ol
ITTa WRIGR fieh ST ST 3Tg. TRRRIET SRIT MR SR, i [T el @R ITRIR 3T
Uehe A, ST 3ATg a1 F990T WHpR xvl, Sit aRIRI a1me freameft Sjesad €t arae! U TehRa! Qi 37ig,
gl U UepRa Uil T8 ; UR &l el Sttadra qRyuidT -ieg, 81 FIsIeardT [JeRT Feg. & orich @ i
AR, O MR A UG I R A fififer aifeer. St aRRRt amg, ffetr amuear &z GioeTdl argdet
e Tdel UIfol. 81 gouTe 37Te. RATel TNGHTRAYHTO Salv had SaR o RRRICIIR 3RY 180 g IR
B ATEL. ST SR &R IFd! Al @RI IR, S ST Tgdl SR 3R YU FTed, T T I UTSHR BRUGRITSH
FTUC XU g WS TR B, S 3AE FTU&T AfUDh TTel PRUl, ATUeh I UTdobiebs o 01 AT TR IO
yRRchiel TR Hew Hreror T Hied ATel 3R gL R SGetedT g fafdece Teetedn agwmdl ST 1l gavd
R 96 e APUR gL, ot Tesiise! [ChUIR ATE!. JTetehrd 8Ty Hied TEHER TrudTel ST <. § PHHD
IR A0 Uich A JGedTell a1d odf AT 3RY g ool dletel Mg, Staeredt ANTaR Jem el 42 fasrch
TEl. U HUel &l I AT 3TRY Bl FRUM Siara hedl a” A,
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¥q) IR AT MY’ .
9) Sfcyep Sta=mT AT Q) &t Afcies
3) HRUMT SHAURY 2hodl Q) IeATHD 9Ta!

¥Q) RGBT Hd ERT GO’ IR ?
q) St aRRUT 31 el Sjead gaeamaR et .
R) AU BRI RIS aIea 3fetelt TR TSI 3Fdhel HRo-l B,
3) 3ur YRIRINIR BIe> TNIGFIRISHTO B3IV g SR TS SHTOL.
8) fafdeds Tt sgadl ST PHIcID 8o IATE! ARGl T3 E.,

¥3) 'dfte W’ IS PR
q) ATl ot RRPIET o arcare aul.
) I el 3R T FHBR PRI S,
3) - g, vgdien smuR gEg:Emr mUR oo,
8) S 3T AT FWPR Peord AT e FHf0T FRugmar TR v,

¥y) TER SHgThs JUIRT ATl Tides DRUM Hiovfe ?
9) IM-gN, AT, PR, daerdr, Ao AR fasrr fHesfao,
Q) MY AfTea, Rfched RAIBRIT Fia S,
3) ST Mg < SR PRI g ST AfpIeien 3ref FHSE Hul.
¢) SRfd areet 3melelt YRR sgad ATd arwia are ygrd SHTo.

¥4) 3MYedT Afd Sfa-rar ‘3T’ DI ?
9) INMYTT Afched 37T fedhfaur.
R) MU e TR P IH R S s,

3) YoepTer giRfRcTel g oo,
¥) 3T LI IR SFftehIeeh el ol

Read the following passage carefully and answer the questions no 46 to 50.

So Tiziano continued to draw. But one thing troubled him greatly-all the pictures he made were
black, drawn with his piece of black charcoal. Yet all round him glowed a perfect glory of colour-the
beautiful blue of the sky; the delicate, changing pink of the great jagged peaks above him; the red, blue
and yellow wild flowers; the golden brilliance of sunshine; and the rich, soft, mellowed tints in the old
houses of the town. Colour! Tiziano loved it more than anything else in the world. Yet how was he to
reproduce it and get it into his pictures ? He had no money to buy paints, and paints were expensive in
those days. His father, who was a mountaineer, would never listen to anything so foolish as buying
paints for a boy when the family needed food, clothing and fuel to keep them warm.

Let Tiziano make shoes! There was a trade for a man! All the same, Tiziano continued to dream of
painting and to wonder if there was not some way he could make a picture in colours.

The day before the festival of flowers, Tiziano chanced to pass the spot where the garlands had
been woven the evening before. Suddenly, he noticed stains on the stones of the walk before in inn.
They were stains from flowers that had been dropped and crushed, and those stains were coloured!
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They were every colour that a painter needed! In a moment the feast and the fun went out of Tiziano's
mind. Catarina saw her brother heading away from the merriment and hastening out of the village. She
ran to bring him back and found him in a meadow like a variegated quilt from the brilliance of the wild
flowers. "Tizianol!" she called, "Why are you running away from the feast ?" The boy did not answer for
amoment. Too often he had been teased by his family and the villagers for the crazy dreams in his head.
At last he answered bluntly, "I have found that then stains of flowers make colours, and I am going to

paint a picture."

46)

47)

48)

49)

50)

49)

51)

43)

52)

In the third paragraph the word "Variegated" means :
1) marked with patches of different colours  2) having different designs
3) flowery 4) of different varieties

At the end of the passage it is clear that Tiziano had discovered :

1) that the could fulfil his dream of painting with colours obtained from crushed petals.
2) that painting was a better profession than making shoes.

3) a way to make his sister happy.

4) a way to add the fun of the festival of flowers.

Which of the following word best describes Tiziano's father ?
1) miserly 2) artistic 3) insensitive 4) generous

Tiziano's father wanted his sontobea............... .
1) Painter 2) Cobbler 3) Florist 4) Mountaineer

Tiziano's 'crazy dreams' that are mentioned in the second paragraph refer to his desire to :
1) Make the best shoes in the land

2) Find a method for recycling the flowers from the feast.

3) Bring prosperity to his family and his village.

4) Paint picture in colour

Tl fUereed 2 e, 3 foxd ity 2 e dg 3ied. SR A §F dig Pieel, TR JTd Tdhg! g
o1 Ul FaTerar fat ?

9) /9 ?) 99/19 3) 9°/R9 8) 4/0

If a bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the

probability that non of the balls drawn is blue ?
1) 2/7 2) 11721 3) 10/21 4) 5/7

leilel ARATUDT fbell AT 03 = HAT ST ATel 2

48%, 994%, 3003, 34&Y, Y3I3I, ICIR, R&oY, CV3I&

9) 4 ) 3 3) % ) ¢
How many of the following numbers are not divisible by 273 ?

546, 1156, 3003, 3564, 5733, 3822, 9605, 8736

S5 2)3 3)4 4)8
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Teh! WRISRATS! UTd e Bid. ORiar AHaR) g eiiell. sfograrea el i, JieoR e Sifor e
g e Jreamed HRISH fawy BT, dR uRiarl goard plorn o selt ?

9) RIS R) or 3) et 8) Sferer

For an examination, there were FIVE subjects. Examination starts on Monday. Mathematics paper
was previous to History. Science paper was after Geography was after Geography and Marathi

paper was in between Geography and History. Examination starts from which subject ?
1) Marathi 2) Mathematics 3) Geography 4) History

STegT Q&b SIRTN .9¢,9oo T fddbetl, gl T ATeThTe 4% T FTet. ot ST fopelt fehmcitet faepraet
qifEst B, F{UST 94% I FATel AT 2

9) 3. 29,000 ) . Q000 3) B. RY,300 ¥) . ,¢00

When a plot is sold for Rs.18,700, the owner loses 15%. At what price must that plot be sold in

order to gain 15% ?
1) Rs.21,000 2) Rs.22,000 3) Rs.25,300 4) Rs.25,800

REST, MITE, STIR 3Afor TRIM JTdehl 1 Sreqiear 3feh Hepeir! shARaId aTal 984, 3948 T ¥239
31eft 3TTE. ARG AT YGRS Hebdl Tl

) 4&Y ?) 8Ky 3) 3R8Y 8) 343%

The number code for three words from among REST, MITE, STIR and TRIM are listed here in a

random order as 1456, 3154 and 4231. Select the code for word SEMI.
1) 5625 2) 4265 3) 3265 4) 3526

feoeht e a et SEm SR, feiear fGumieR smenia SR sFHFRT Fag .
a) HEFTR WU |4 gihl Walgd! e g 3Rielel <I-9I1C adel 37Ted.

b) HEFTR 3Riclel T4 WAIG Bl Wesdl RN,

c) P gl Wesrg bt @t efter &rerar.

d) 9§ JuRaTelieT gl WasTg ~TgH! cdl HTerra.

gt SR :

q) ST S-AEeR b g 3MTe AT Fd hl Blehl Wablg 3TTedl.

Q) Pt 2t Tt Hd @Rkt gThl Wasrg 3T

3) Tt aTcielel 9 gl WaTg & AudTeliel M.

8) ERIeTUDT Teba! AT,

Study the statements given below and conclusions that follow these. Select the appropriate
conclusion that is based on given statements.

a) All hockey players playing on the ground wear T-shirts with blue emblem.
b) All players who are on the ground don't play hockey.

¢) Some hockey players also wear blue caps.

d) Hockey players who are below 16 years always wear a cap.

Answer Options :

1) All persons having blue emblem on their T-shirts are hockey players.

2) All persons wearing blue caps are hockey players.

3) All hockey players wearing a cap are below 16 years.

4) None of the above
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Meselett ST Tt TRl et gF are fisfavarrdt felean wafaiq ST acwiel Fasr.
o™ @ A aTe! UG Aaltel SO e SRICAT 3T STETIeh el fasHT HHETeaT goar
T e oo IR

9) STATITRT AT el R) Ra=r anfor anforamn

3) IEM 3 eATioRaT 8) SMIBRIE T g

Select the appropriate pair of words from given options for filling the space and make two

sentences with equivalent meanings.
Many senior faculty members who were accustomed to being addressed in a more collegial and

egalitarian manner were alienated by the ............. tone of the new department chair's introductory
remarks.

1) Sanguine and Propitious 2) Saturnine and Ignorminious

3) Peremptory and Ignominious 4) Imperious and Peremptory

géieT URees Presiyde argd Jfhalaral dhard Jaid Sod quH PRUR AU Faer.

U Ffefd a1 AIUATRIET Wbl T ANRY qToaTiel aTg-ige Arfodh! duelil AR dosrd fRieor

FRU AR FICT 3MTe. WleTl g1 U1 UUgSAT ARR doord Uede FRIer sh_ara snfor archier el

UGS e Hel WISl g Bds Ml 3TN 9Y ESTR Ge Wieilar HaR RaTd. YTudrd q9HH, Harg

31O garH ArFe e faog ficTelet ATfad SIEFIeRIer FARTeNed U=d H&ifid H_uR fafaRiqer J=om

e TR AP SIERAAT T el A, fwa: Ssoif @ 3t Jrednell Wi AasTiredn gl THR

AT T YOI dlgr R IRTeiedT FRISTUTRT AediH HAisaul shelfid I glsd.

q) UTUIRETeIel Hielfiles T g 94 89IR e WieleR Y P 2TehelTel.

Q) A ATQUIFIT AHRRSTeS SAAVT Sooil d 37 Sarsean TR FARel dis 3d 3T

3) UTUgTRATeAel G dTe SHscorIs T faaT Mest ehreflel AUl forer TR St o 3=l geeprosiell eifrd
TR SRS Rl IS,

¥) TUIRATelleT WA dTe-id Rl

Read carefully following passage and select the statement that best describes focus of argument.

Using technologically advanced manned and unmanned undersea vehicles it is possible for

oceanographers to observe sea floors. Direct observations of the ocean floor are made by deep-

diving submarines and some of these submarines can dive to depths of more than several miles

and cruise at depths of 15 thousand feet. Radio equipped buoys can be operated by remote control

in order to transmit information back to land based laboratory including data about water

temperature, current and weather. Some of mankind's serious problems especially those concerning

energy and food may be solved with the observations made by possible with these underwater

vehicles.

1) Technologically advanced undersea vehicles can cruise at depths of 15 thousand feet.

2) We are facing serious scarcity of energy and food with respect to ever growing population.

3) Advanced underwater vehicles collect information about sea floor which can be used for solving
problems related to energy and food shortage.

4) Functions of advanced undersea vehicles.
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93 feciear gfcharerdier fraR wfehar ararr anfor foreaneft el Staes faaR wfthar st gafa Faer.

SR SRIARNT SO fhaT TepTer ScAfTd 2id 3RieT ok ford Sooll Ted. gUoTd SR Rl Soll [RUR 3Rid

R R IS foham Hepter IARIT dhetelT T

9) SR FHSIAT HINUIE a7 Uhfad oo S0/ T 3Riel, a) lldalal et A smafert
3. SR GFEl gRHMEAT SHRITe 3T TR gl AT QI ehlosreal AT el

) TR TTEd QU (SEd SRAclle fohar O SMSaeaMId 3eds BIvIR! el 8R AR Bd e,
DIVME TR -1 FaTd AR W1V YTUIRT STASUIR AR 7V < U (+81ad 3Rie] arfgoid.

3) ol STftr IPMEILTRT AR § $IE URdel S JMElel DRUT AT RIS aroft 3for
BREEZNICIRCICRICR G R

) 9 guTeRIdt St Pproft s ugd! URuT FRd 3RIeT al Fasiell U 3iel. AT 9% aufdl SRy
3IS[Te! UGAIgd 3TRIRT Rd SRICAM ol U 3% 21ehd g,

Study the reasoning used in the argument given below and select the option that most closely

follows the same reasoning.

If heat or light is emitted by a body, then its energy decreases. It follows that, if a body's energy

remains constant, it has emitted neither heat nor light.

1) When either freedom of speech or freedom of assembly it present in society, democratic
government inevitably results. If you live under a dictatorship, you must therefore lack both of
these key liberties.

2) Either the fans are very loyal or they don't mind the team losing week after week. No fans like
to watch their team being beaten, so they must be very loyal.

3) With water and sunlight this plant will thrive, since both water and sunlight are necessary for a
plant's survival.

4) Anybody over 21 who holds a university degree or equivalent is eligible for selection. Since
Aminais 19 and still an undergraduate she cannot be eligible.

el 9 @, $, 0 T # 1 g YelervHiol STIN el 312,
A OB TUN A g B Uer GaT 1.

A$ B =S A® B Ue o8 fohar T8 AT

A @B U A g B e HioT fdhar SH AT

A #B TSI A g B U8l olgH ATal.

ECILE HOD,T$D,F$H

AN : (HFOD (D)T#F (I)DS$F

PV A /S T 31 7

9) Tepg! I el Q) b I (I) J
3) Wb g (111) I g) e (1) a (1) |

In following question the symbols @, $, ¢ and # are used as follows.
A ¢ B means A is not greater than B

A'$ B means A is neither smaller than or equal to B

A @ B means A is neither greater than or equal to B

A # B means A is not smaller than B

Statement : H¢D, T$D,F$H

Conclusion : (ODF¢D A)T#F (JI)DSF
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Which conclusion/conclusions are true ?
1) None of true 2) Only conclusion (I) true
3) Only conclusion (IIT) true 4) Conclusion (I) and (II) true

UehT Sehidl %0 Ufeemans 31Tg, off ch! SeaTedire foeM 8Y° I aosd, Iral asaiered fadM 9¢o® I
I I FR TSl g QM uo° I gasd, TR 31T fofd Ixg it Qe g ?

9) gfeeq Q) I 3) SR Q) R

A man is facing towards West and turns through 45° clockwise, again 180° clockwise and then

turns through 270° anticlockwise. In which direction is the facing now ?
1) West 2) North-West 3) North 4) South-West

P,Q,R, S, Tanfor U a1 au<hl gRa driescal armed. Arliel T &ch! 318, U chl 3R Jddh, Th
2Fh TR R} ATerdd, e Shl TdTer 3o g RE A<t 31Ted. a1 TIerd g faanfed Shied 3rmed.
TTeT &b S 2t f4aTg ohedT 3TR, Sft Qe 3TTR. TeTdiet Uaha! B Tgret <oxt dTetad =gt fdam JTRI
Hadg! el R & eehl 9grdt eull arerad fom U &1 achielt faarg et o1, Sit sreumdes 3. P+ S
off farg et amMg SMfor T & &hl et Arel. fietledn TR s/ fau fHas.

9) Terdier ReRI g | Ffead aRur o AT,

Q) St <hl Tt 37Te <t Tehra B ATa.

3) S At ggrdt e aread o T ekl g W STl

¥) IT eI T diF St TS 3fed.

P,Q,R, S, Tand U are green activists. One is a teacher, one is a health worker, one runs a tea stall,
one is a librarian and two ladies are farmers. There are two married couples in this group. The
librarian 1s married to S who is a farmer. None of the women in the groups runs a tea stall or a
nurse. R runs the tea stall and 1s married to U who is a teacher. P is married to S and T is not a
farmer. Select the statement that is false from given options.

1) It is not possible to ascertain total number of women members of the group.

2) The person who is librarian is definitely not a women.

3) The person who runs a tea stall is definitely male members of the group.

4) There are definitely three female members in the group.

UReel PG Y =T g giefy fsdetell Bel fHaS.

1) QQ 2) t]{g) 3) q@ ) v§§9
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Select the fold that is obtained by folding transparent sheet Y.

v 8] 2 !19 ) [y 4>‘§O

oo HIURY, TehT fSaRATd § TRT M et T BT 9/8 HIT 9o f3aAId ol shwama. TR &R feaeht @
T ¢ TN M RO facdt S1fifes Aoy SRelet M 20 Rawrd qub awetat 2

9) Y Q) Yo 3) €0y 8) goo
400 persons, working 9 hours a day complete 1/4 th of the work in 10 days. How many of additional

persons, working 8 hours a day, required to complete the remaining work in 20 days ?
1) 275 2) 250 3) 675 4) 400

Th <& A, B, C,D HEJ SR 4 R 1 ¢ ¢ 3 IT FHIUNG RIWMIaRITE 37g. SR C T SHUE $.9000 SR
firet, TR B @7 arcl fondt o/iet ?

9) 3. Yoo Q) ¥. 9400 3) ¥. 000 g) ¥. Yoo

Some amount is to be distributed among A, B, C, D in the proportion of 5 : 2 : 4 : 3 respectively.

If C gets Rs.1000 more than D, what is the share of B ?
1) Rs.500 2) Rs.1500 3) Rs.2000 4) Rs.2500

SIS UTa HAUAHT U fiesT SIRIURTAT QaTel i} ST 8t UUT hIc ST g 3Ravl i1 ool ST
TTel. TS @ A1 J1 el ST, TR o1 8 it ST shHidr fas aiclt. Prefien 1 3 SR
Bl R forefell ufgeft fFars e gl ST ATsrelt <o &1 &Il ST d el a1 Qre! e ol gRRt o
feeft TR forele o RRA=am shATeR fRiagT Coell ST ShHTeR fRias ah_uaTall Uil fefl. aprefl @ Jt it
Sl forR=T spTepTeR e dhetl. SISl foRs) foas ¢ gt ok ATerll A1, a1 #fefHT q@ar Fragien
I 21 FaSie g9 fYT 33T Faian b IR 0T FUiRa PRearIs! @1 AgHd Sied]. SR U@
fSepToT PIUTrET feea sl fiae et oR A STRI Te! 31T U it eide]. TR 1 /Aot etelt
NICRECSIR

%) e & 2) uF b & 3) o 01 y) T T T

Five friends wanted to go on holiday together to one nearby village, but they found it difficult to
decide where to go. Jai and Mano both wanted to go to Pane, with Fene as their second choice.
Kali wanted to go to Make, while Lily's first choice was Gute and Naz's was tembe. Naz and Kali
both put Fene as their second choice, while Lily gave it as her third choice, preferring Tembe as

her second choice. Kali and Mano put Tembe as their third choice. Jai's third choice was Gute and
Naz's was Make. They agreed to allocate three points for a 1st choice, two points for a 2nd choice
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and one point for 3rd choice. The friends decided that they would not go anywhere which was not
someone's first choice. Select the lace they did go for holiday.

1) Only Tembe 2) Pane or Tembe

3) Only Fene 4) Make or Gute

U AAfeTeh b TThl 8,9/ AT A=A, o1 gereft aRieiedn Tesdige of FRUANGr 9,9/ A STl
AR, SR & bl Yot HRelel! /e o) TTedes o R el AnvRT de faer.
9) 9¢ TN ) R 3)R TN ) 9o AN
A pipe can fill the tank in 4,1/2 hours. But due to leakage at the bottom, it takes 1,1/2 hours more

to fill it. If the tank is full select the time that it will require to get emptied due to leak.
1) 18 hrs. 2) 12 hrs. 3)9 hr. 4) 10 hr.

Ueh! SRR gl ualt 3iTed. ITciiet 19 Uall qRael oR gl alt f3udhdrel 31med. Idel Prei-m g awd
fuchel 3Med. FIgeRIiel e AT yadiueh! Uid Uedlel UeheR OXT 31 fohal fouds aimed,
IR IR el Yedideh! afar fouch afred. a1 FEleRIiel e oI 3rfelel fhAT Fve
IRESIE

) ] ?) v 3) 94 8) 9o

In an aviary there are a certain number of birds. Nine are crested birds and ten are spotted birds.
Some of these have crests as well as spots. Of the seven yellow birds in the aviary, each one only
has either crest or spots. Of the four red birds in the aviary all have sports only. Select the minimum

possible number of birds that are there in the aviary.
1) 19 2) 17 3) 15 4) 10

A, B, C,D, E 3f0T F 8l Hei URRR{HS TS o] PG e Wed WeUARITS! ageblepR afetel] Tad AT
ot A feotea AT SRcHierd RT TRl A 8 o1 F =1 §AR 31ftr C = Srefiehe a¥iel 37e. E @ Jdf D
fihaT B =01 9TRT 181 B € 91 A 1 I9TRI T8l SR B 8 9ot 621 Sidihalel el HHId dafd
T PoTgolUIR 3RS R TeedT heredl et S Hegl dieudrdr et 7 oo 9ot faer.

9) %k D Q) B F 3) UheR D fdar F %) %eh E

Children A, B, C, D, E and F are sitting in a circle facing each other not necessarily in order given
here and playing game Chinese-Whisper. A is sitting opposite to F and to the left of C. E is not
adjacent to either D or B. B is not adjacent to A. If B is the first child to say the message and
whispers in ear of child on its left then select the child who will not get the chance to whisper

message at end of the first round.
1) Only D 2)Only F 3) Either D or F 4)Only E

Ue FRIRTAT feprrarict St Mftfcht a1for aroft e aroft gRaurrar anfawar fafre sepen G
TTUGHes el 3Ted. ATged PRIUUIGIT SSTUl A IAed. U SIegT A DRG] IS T
JaTerd A1 e ReledT feren TRad SaedT degl Wheh UTUATAT TUIEid c1&viig GURON STel Yaed
AR R A @1 AT IRIYRFT Feh UWAd Md Ucelel QAaTes la=eyul Hhed dRaMT T
I HTPIGRIch TTehrSs UaTfa! i Bk 3R JATassel 372,

SR T 3R TR Y feeten sroren frsaufa, st uReeemdie Tifdtean smuR wata Yead wHei vl

P ?
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) SR g YgPr UIUl & qIugred) S U T 3T &2eh i HIATeAT SN SR
SRTCIeT e e Jemed el TR I IEN DTS,
) IR AT IuTeY IHRAciel AT 2 Yo UVl WIS AU 2Tehed ATEN TR pREFITeAT JufigRas]

BRI CAGCRI
3) SR I YSPR UIUATPgT SAIIclle] eI YaTifl Hlehl Tieted Ygleifd wUicR $ilet A8l ) af
Y UIPIGRID YGeD Blciiel.
8) & GgbrRI Uil HTeTaTg STErsTi J2 ATl Tet 3MTed JAT0r A1 qIRfRARTehI el Feear =_afiieniea
RIPT 2 T ITH THR dfel ST 3R
The intake pipes of nuclear plants and water plants along Great lakes are clogged by a certain
variety of mussels that proved to be causing nuisance to the working systems. But it is found that
the bags of these calms when suspended in the effluent streams of chemical plants, not only
improves equality of water significantly but also remove some hazardous wastes from effluents
just by feeding voraciously on the algae that they filter from water that passes by it. Which one of
the inferences given below, if true, is most strongly supported on the basis of information given
in the above paragraph ?
1) If these mussels spread to areas of the river and displace native calms that support cultured
pearl industry for decades, that industry will collapse.
2) If the mussels failed to consume the quantity of algae available to them, then the intake pipe of
the nuclear plants and water plants will get clogged by it.
3) If the wastes from the effluents are not transformed into nonhazardous chemicals by these
mussels themselves will become hazardous pollutants.
4) These mussels are brought in this area through freighters and are thriving here since their
population is not controlled naturally in the ecosystem.

geiel Hifge! lodsiigded dral d ke U3 IR Haer.

a) X g'Y a1 IS 3R b)Z g X =t 987 IR,

¢)M & N T 913 3MR. d)N & Y d gerft .

T J PIPHT AU Fhl PpioT ?

9) X Y 3)Z 8) N

Read the information carefully and using it select the answer to question.

a) X is a brother of Y b) Z is a sister of X

¢) M is a brother of N d) N is a daughter of Y

Who is a uncle of M ?

)X 2)Y 3 Z 4)N

7T QAT A, B, C, D, E @ F 37 oI RedliavieT ST Tiqeaeicd] Jreliell 20 9¢ wiere! carard)

TG TG Sl T FFerd] Hlledt] ST, Ficacted I YUl el 390000 Eid
Y TR RIS I wvyrd JUIY TG SeT S YU Tald ESraeid) Aiqacicl! Carare
¢ 3fer TV E RISeTdeT ESTsadiel] el B Y19 H] SIcted] CehalE] 1498 .
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9) % Q) 1Y% 3) 9&,3/3% 8) €%

Study the pie chart of percentage showing crime against women in states A, B, C, D, E and F of
certain country in the year 2018 and accompanying information. Total numbers of cases
registered crime were 210000.

If the proportion of nature of crime remains the same for each state and percentage of dowry
death cases registered is 9 then select the percentage by which dowry death cases in state E is
less than that in state B ?

1) 25% 2)21% 3)16,2/3% 4) 16%

Yyaiel gfthals ehicooiydeh aral. MU Ted] FexrdT ehithl urd! AR I ep=ugrE Ful & &
forepTTaT et T ot Fefd AT B SR T srTeT Sfu srUIRT W e,
DB GRUTHET TR PRI FLAUDBIAT Thl FHgIel, ST Ixhl TRMAR IR BUUET SR
Hith! AT T 2.4 USH B [IPRIET UIhT SRIAT 3R 3Mawel g, Ml xhid ad  Yuamral
FaHaT aHTa e HefUT TR QY defl 37TR. 3T TR JMUR T Aewi+! a3 o
PIAIN SF HUTRIT FIHfT Heard STfR Pt M & ITcliet S@el Buarnt Fewrdt a9 3R,

q) T ET & TIPRMT BRUMYT SRIVIRT W T 3Te & WHAR TR sfTel 37e g a1 I
BB JGeT & TI&IUl JT0IT JGelaR URUTH Ral PRI ARG Hfgel! Mesl hall 378 2
1 haTcIqd W€ B AT

R) I YHTUIG YU BRUTITEAT eid YHI = RUTIT Sehl b et U ith! fiard g 3
FAYART g 38 3.

3) HIGHT YOG Bithl fUUr I PleRcRIerd! UTde! JTeUaRT PHROMYT B g 3F FALHRT 48
3Tet 3MTg AT & TSAIBRIAT JTeT UIFITAT IR STaesd G 3.

¥) R feasht O fdsar a1ftres g Hrht o= =RAAT 3Tl geafddRET e R Rgsfiar e
STIGT PIhIhUTeT THTOT dTedl 3 T T dheled] AeNUHd et 3.

Read the following argument carefully and select the most appropriate option that if true, indicates
that their decision is not aimed at decreasing team member's risk of heart disease.
A team of researchers studying effect of drinking coffee have found that persons drinking more
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than four cups of coffee have a risk of heart disease 2.5 times than the average after correcting if

for age and smoking habits. It is important to note that the members of this team declared that

they have started limiting their own daily coffee intake to two cups as a result of above finding.

1) It is well established fact that the stress is major causal factor related to heart disease but it is
not clear wether this team has collect information about variations in coffee consumption are
directly related to the variations in stress levels.

2) Subsequent studies have shown that nonsmokers consume coffee at about one-third the rates
of heavy smokers.

3) Subsequent studies have shown that heavy coffee consumption causes an elevation in blood-
cholesterol level, an immediate indicator of increase risk of heart disease.

4) Their own study found that for persons drinking three or more cups of coffee daily, the additional
risk of heart disease increase with each extra daily cup.

A, B, C 9 &1 @hid IRRT & 30 @¥ 32, D ° a7 FMfFaa .

faT faeum -

I. A g C J/1 gl d9ST go ay a2

IL D & &hl A. 9aT 9o auf g e,

fetear TR SR fiwauare g¥ A gl fas.

q) aes fIHTT 1 A a1 bas UM 11 TYT GRactent foar geeft are.

)fu™ [ I 7Y WRaeiel faer oo qReft o

3) s faum 1 9Y7 QRaetel fagr QReft ame iy o ... < T_eT g,

g) fau 1 a 11 9YT qRaclel a7 Yepfiaqor greft A,

The average age of persons A, B, Cand D is 30 years. Determine the age of D.
Data statements :

I. The sum of ages of A and C is 60 years.

II. Dis 10 years younger than A.

Select the correct option with respect to getting solution to stated problem.
1) Data provided in the statement I alone or statement II alone is sufficient.

2) Data provided in the statement I and II together is sufficient.

3) Data provided in the statement I alone is sufficient and statement II is not necessary.
4) Data provided in the statement I and II is not sufficient.

B @ C UelT 2.4 311 3MMd. A STa 3 Y&l .93 3AfUeh M. I freiehsial U4 A9 giciiel areft <amor—
BEIUMECK

9) A BT, € <1 MOTB & C ol 5. 3 <gal.

AT BT, & 5 MU Cell A g 2. & e,

3)ATC ol 3. ¢SsASM B al A dgd 2. 3 fiasiiet.

%) A C e 9. 2qsa1 ofor B & C &l 3. Y g,

B has Rs.5 more than C. A has Rs.14 more than B. Select the transaction that makes equal money
to all the three.

1) A gives Rs.6 to B and B gives Rs.3 to C.

2) A gives Rs.3 to B and C receives Rs.6 from A.

3) A gives Rs.8 to C and B receives Rs.3 from A.

4) A gives Rs.2 to C and B gives Rs.5 to C.
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Decision making and problem solving question no Wg-co.

TRl TRUTThaT SiehaRT SavTa fammd aqgel Sioft HaRt Ul PR 3Terd. afsern fhlel

IR JFel TRUTIoRbd MG JodId hefl. o did SVl SRR grel €U are =al. i

Rl SR UTE faHTIIceT qeed udiderei= qratel f1&r ge =ie] Sq0 e 1eMe SgeivaRTe!

NI foel. ¥ad:-ea SRk YT qral aTforsdl STRdcliel Ugat ST SHTST Hddiel YeegaR forefor got

el ST AT T fTE07 FRRIT HAU T SAvITAIS! TraTell UReeft STIrigeit fiiesTelt a1rg 37ifor

Jrel STRIRT ISIATS! St et 3MTR. FRUTforchedT FRMTIRIR, SHHam=ITeT f1eM0r IR6 SaudTATat g aufd!

ITARIE ISTT e, TR TRUTIeTenT THEHT QFeT 315t AR o Felell J1 Waria, ' 'Irelell SR 99

frer fi@iel R AHST B BT PRUR 2 R U foaRer. & Fan Fueoame! g geid

I o ARt frasa ?

q) T UGRR AU St i ARG WRIdIe SRhiFT SoUIT 3ME JUTHRIT S9 ST
e geitar Jrelell Il IR SRICI™ Jral i Jeldl fIeir g el

R)  PHARI U TRUTICTRT STRRITIAThSH PIUTE! RIhIRATS! Sarforeh Joreit Ffae 31rg Mfor Afdermfaeh
ol SR SRAIAAT SFAIGRTET ATV o] SUARATS! AT ehiel FIH e,

3) 3T ATPRUAR A T AT U BRIGAT Aedi Afde Ugd! g Aeds argRe 3Tiqier dared
FRIA.

g) ST ABRIER A Biod Hod AT THRAT THRAT! SRg OM=AT Feerd e, TER
SEMUBIIAE, Hd HARITMT IT TSI STFRach PRI,

You are working as a fourth grade worker in the solid waste management department of a municipal
corporation. You joined the corporation after you father's untimely death. Though failed in 10th
class you are a voracious reader. Observing our interest in reading, chief supervisor in the
department encouraged you to continue education and change your fate. With your personal efforts
you have completed graduation in commerce and post-graduation in social work. Now for
continuing research in social science institute, you have receive a foreign fellowship abroad and
have applied for a study leave. As per the rules of corporation, employee gets two year salary
protected leave for continuing education. But the head of the corporation rejected your application
and discouraged you by asking question, "Who will do clearing work if you get higher education?"

Which way would you choose for sorting out this problem from the following list ?

1) Discontinue your education as you are well acquainted with the attitude of many of the so
called higher cast persons those create trouble for persons from lower social strata even if
they are appointed on higher posts.

2) Talk to this person patiently for reminding him about educational leave provisions available to
you as an employee of the corporation and about his disrespect towards constitution.

3) Try to know facts about rejection of application and organize an agitation with the help of
activists using different approaches and media.

4) Concentrate on the rejection of leave application and make aware all concerned higher authorities
including national authority that looks into these types of problems.

grel Riegr ulei fasmTr=aT AT et T SATEN. R Uep TIC Jeglell HeRIelT STTell 31Tg 3TIfr
ITcfiet PrgreTol faarfad R Preiorult sifdaned M. P RARIENS! anefialg fesauare!, geid
AT aCT MBI IUMAT Ul Ul AT ‘TH—HaT BRISHHIT AEHNT FUIRIS! TR
AT Pgalichgd SaTd AU ST AT AT BIEIAT GHehl et ST 31T ST T graT 3MTg. AT TS

MPSC 39T g8 G187 2032 : yiR-2 /37



77)

ve)

78)

For Private Circulation Only

AR 3790 ThReAT HehieR 34T ATgl. Tl 3Fiep dbi AT Ufdsl ehiel Weall MR URq Freariaeht

PIUCTE! Ta1G G VepudTd ATel. IF ...

N . -] PeaTl TRIRICNIS! snefiale figauarnel @it Teadd JgvrT S0 € i axied
M 3R g Rer e e,

) e TRADIhgT ol ThRIT! HRION RIS MU Peawiical DIV AGRIER AT aT foren
STORER e YHRAT BRIHHT FEHF SUdTl Iehl B0 SPRIGR MM 3T AR I
NEA NG ISR IS EIBR SR GEI

3) ... UG FHTHIATS S FRUMT STRTHIT AT Aee T ¥ 2T Digfid TRer dis
0 31fres TSl ® g @ R uead e

Q) ... JARTDHIT HLAT, MMl g HEIfIeerd IrAT Hediq el e, Rchlar forear seafdog
31T PRIGAT AEHRIT BIVATE Fehl PRUl dPRISR 3MTg &N T SIFRech PRUIRATS HEH
Fefed e

You are the head of the "Social cell" of district police department. You are approached by the
group of women and among them some are married and some are unmarried. They claim that they
are pressurized and in some cases threatened by their families to participate in 'Guru-Seva'
programme of certain holy sadhu during last fortnight of next month, for earning his blessings
for the prosperity of the family. The members of this group don't believe in this kind of devotion.
You met this holy person on many occasions but never heard anything wrong about him. You

1) .... convince women, that is their duty to participate in Guru-Seva for earning blessings for the
prosperity of their families.

2) ... seek a written complaint from each woman and send appropriately worded notices to the
concerned families for forcing any member of the family to participate in such programme
against his or her will is illegal.

3) ..... convince women that it would be better to tackle their own family problem with the help of
NGO working towards eradication of superstitions.

4)...... take the help of NGO, schools and colleges to organise campaign in the district to make
people aware of the fact that it is illegal to force persons to participate in such programme
against their will.

TR g ¢ ey feneaien w@onlt deifdies ¥ HaTee SE. HIvd! ¥y el wifgd

AT, ATEHIIT IRATR It 318 STITOT T AR e At STRT SHRepR&TT iR ZI0T=IT TRUTHETE

TEIeT PIcol! dared M. Tl ...

q) T TN /G APl HghoTel FaUeR guiuel §Et arelre.

) IRER MuTRA Uk SdMT M gt IRAMT Hicsoll HUITET QU HUIRAS! farmeatar foseh
PRI,

3) JRIUHADE! I P SLATIDMT I Pl dos JueTed] ol W] JITIHe IV FHIGR T
gugret ot aRie.

g) fIecivur e WicaT STawT SNeEul 81 SIRIASHHTET JTf+arl 9T S-g faenef=r dam guarad!
TR PRIl

You are director of private educational institution that caters for the learners from KG to PG. You

are concerned about unfettered information flooding social media and about the effect of such
information can have those most impressionable. You will .............

MPSC 39T g8 G187 2032 : yR-2 /38



9R)

79)

For Private Circulation Only

1) totally ban access to the net in all campuses of your institution.

2) request students to take a pledge to be careful while making decisions and taking actions based
on news.

3) design time table and request teachers to spend some time in class for conducting discussions
about the damages done due to fake news.

4) assist learners to get empowered to identify fake news by making news analysis a mandatory
part of curriculum.

RERTAT YHTUTTS SUIRATS! A HULDh hatl TR, 3idh SHEARI & AT SRR Schid JelRad e

forel Gepr faHmIICer SREi SredTuehieaT USRITS! s dhefl 37TR. PRUT HeARIPRIT Terell il @chl

qUd A& 3Meowetl. Ira AN BRI 3Rfelel, AT FHNI GF A QFelell Heal d I § =T

GSEIATE TDPRIHD THIOG T IRAT JHTATER Ga1d SMTUTAT 3Tg. T Uebrd FHISIE AR 3R]

S o ST T fAHEIRA TR SIS guiia ST WRK 3MTE. IT &kh! HidSId &d:d Hudh i

T AT TR dheletl THUD I§ PRI SRR AT IR, TR

9) ... el fregt SRt Uopra g SRaT aRig! Sad:dl AU e AT UIGUaRITS! SiTetel! el

) e T hidT GE19 BTG TATAT TR T oo 7HUD Plel BIGIIIST I Feferd @hiAT

PIEl Pl AT CIhIa.
3) ... A FEHe] U IraUIRITS! ‘ST SIFNATG! & &chl Fasatl 3TTg o dff P ADUIR AT
g) ... DIUCIE HEHIT T Il JHY DI Jrelell gt g JHIOIRuY s & areft fa=icht grel
T gEbeilell Ie.

You are a medical practitioner and appointed by the prestigious educational institute for allotting

fitness certificates to all persons before they are employed in the institution. A highly qualified

person X is interview along with many other candidates and was selected for the teaching post by

the head of one of the department as the panel of interviewers found him to be very competent.

Two members belonging to your community who are faculty members of this department

approached you and pressurize you to give negative certificate about X's fitness. They are interested

in creating trouble for the X and the head of the department who belong to the same community.

These persons might use their connections and cancel your assignment with the institution in the

future. You will....

1) .... tell these persons that though you belong to the same community, you are not appointed to
follow their suggestions.

2) .... try your best to delay the appointment for some time and make X and the head of the
department, miserable only for some days to avoid pressure from these persons.

3) .... certify that the person is not fit for the work for which he has been selected as his heart is
extraordinarily large for saving your appointment.

4) .... request them not to interfere with your work and allow you to execute your duties
scrupulously and righteously without any kind of biases.
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¢o) T A TG HRAT SMMVT BIEl TR S HIeT SATEN. JHURT SCTHURD AT ST STHIA

80)

Helel b JHEAT QAR IR FgUM I, DIch-TIRIeedl HhaRuig d §d YRl M H=ald.

I Nicailiel 3 ddm=ai-T ST hedll e M7 PR 3Ted. AT JHEAT PINTRIC PraoTol

AR 3MTEd. DicaIDh ShiHT AT Ugd PRUIRT Hgw@rd! YHepT STadid 3T ST SHRId

el 3 SRR bl 37Te 3Feft AR SURT YA oikd AT araTd 3TTell. Shich1eh

fOe STTCHEAT PRUATYRA g HAfed ATal. BT fhdl HaRAMT hicaIhrd U] HRERIER edet

ST ST ey TRIRT ST &Il ST, @ U Al HeeR d HeiRieaR YRUTH &Rl Il IT Echid

R19, ISR G ATEHLTID! gait faepRaa i, AT Hifeaiel qrar UiRig PRI 3/d ?

q) Hl AT PR I ST JREM AT QR SN AT IATATD Plesoll B lchIeD
EIATSUATT AT HhaRuard Tfer <.

) T Hd Sfaurdes I BiedhId aruRu Afeds 3 oot gat 7 e At dies Hieamiargd

3) Hi fouRy ToeTel AgM-eId e fbal ATaRSTIel aToRee Wil Hifgc! g, HaN 3Rfetl Rigl
GRI&T PlcaHIDrd! SUAT MY Bl

g) Y SMURE e FrshufArdt e 3nfor ARiq i iaRET Arsht i JRFA STuarTd! 31T amoRd
SRICIcl! hlceIDh dTIRul % o

You are a farmer by profession and own a few acres of land. Many other farmers from nearby

places, those own insufficient land and landless people, work as labourers on your farm. They do

all sort of work including spraying insecticides and herbicides. Many farmers in your district

committed suicides and continued to do so including some of your workers. You came across the

newspaper article that informs that many studies all over the world claim that insecticides play

major role in motivating persons to commit suicides. It is not limited to commit suicide by

drinking insecticides. While handling and spraying, molecules of insecticides are inhaled and get

accumulated in the body over the years. This affects human brain and neuro system and attitudes

like frustration, depression and self-destruction are developed among these persons. What will

be your response to this information ?

1) I will provide all quality safety equipment to my labourers and train them to handle and spray
insecticides with necessary care.

2) I'will stop using these chemical insecticides as they are life threatening and use other remedies
for saving my produce from insects without bothering about the yield.

3) I will consult reliable expert or get authentic information using internet to find out availability
of safe insecticides, even if they are costly.

4) I will have to wait for further research and till then I will continue to use insecticides that I am
using now for to keep my crops safe from the insects.
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